WX J}

Q‘S)' 5 MOTION & CONTROL
< c
neim glien
5 S
9
%69 $%N

&/ -b
29.co.il | 02

Precision Machine Components

e Ball Screws

Edition 2008/01



Precision Rolled Ball Screws

Main features:

Compact ball nut heralding in the next generation standard.
Extended maintenance free operation with NSK K1®
lubrication unit and new grease retaining seal.

Suitable for high speed and long stroke operation.

165



NSK

1. Precision Rolled Ball Screws PR Series/LPR Series
1.1 Specification Number

For ordering, please quote the specification number.

Reference number: H S P 40 40 K 1 D 2002 § Al

Accuracy grade and axial play |
HSP (Ct5, axial play 0 mm) Bearing journal for fixed support side: please refer to the
VISP (Ct7, axial play 0 mm)

configuration of the screw shaft end outlined in the catalog.

Screw shaft diameter (mm) S— .
l ) Bearing journal for simple support side: please refer to the

configuration of the screw shaft end outlined in the catalog.

[ Lead (mm) |

x 2 5 Overall length of screw shaft
K: Equipped with NSK K1 unit If the length is less than 1000 mm, enter O to the forth digit.

N: No NSK K1 unit
(Equipped with grease retaining seal only)

] Pasition of ball nut flange
Number of nut [ D: Screw shaft drive side  S: Opposite to drive side

Screw shaft overall length

%

Opposite to the drive side

] FERLREE,

] Drive side

1.2 Permissible rotational speed of precision rolled ball screws

We strongly recommend reviewing the allowable speed of the screw shaft.

The allowable rotational speed of the ball screw shall be checked on the following.

@d-N value, which is involved in damaging the ball re-circulation components

(Where, d: shaft diameter measured in mm, N: rotational speed measured in min-1)

@ Critical speed of the screw shaft (caused by the resonance of the screw shaft)

@ Permissible d:N

Preferably d-N<150 000. Please consult with NSK if your ball screw exceeds the limitation.

@ Critical speed

See the chart below. For detailed calculations, please refer to the catalog: Precision Machine Component
(CAT No. E3161).

Please consult NSK if the maximum rotational speed exceeds 5 000 min-', even both the critical speed of the
screw shaft rotation and the d-N value are in ranges of the allowable limit.

Permissible rotational speed vs. critical speed.

10¢
8
6
4 —
A
M~
= “""""-.-‘"'“‘H-...:"‘"‘--__‘_“
E 2 F—1 5
- i
-3 850 ?‘H:\
g pa0 %
3 632 -~
E 8 P25 7] e
g
E’ T~ 1]
=
2
2
1P
Fixed-simple support ‘IID’ 5 a 3 3 1'0; B 4 [ 8 ‘|IuI
Fixed-fixed support B + S 7 P 6 8 0
Fixed-free support i =l ) ) T >
Support bearing arrangement Rotational speed, min*

166



Precision Rolled Ball Screws PR Series/LPR Series

— #X

Type 1

Shaft diameter: 12 mm

60" MEx1.0
oll hole

Ball nut dimensions

Type 2
Shaft diameter: 15, ¢ 20, ¢ 25

Precision Rolled Ball Screws PR and LPR Series

Type 3

Shaft diameter: 40 and 50 mm

and ¢ 32 mm

#Dg6

Min)

imum

NSK K1 lubrication unit

PR Series Unit: mm
Shaft Lead Basic load rating (N) Dimensions Maximum screw
Model No. diameter Effective turns| shaft length
d ’ of balls Dyna!'nlc load Stalt|c load D A G B L c w % M ct5 ct7
rating Ca rating Coa
PR1205 12 5) 2.7x1 3200 5 860 24 40 26 11 30 10 32 4.5 | (18) 500 900
PR1505 15 5) 2.7x1 5 460 10 200 28 48 40 11 30 10 38 55 | (18) 600 1200
PR1510 15 10 2.7x1 5 460 10 200 28 48 40 11 43 15 38 55 | (18) 600 1200
PR2005 20 5) 2.7x1 8790 18 500 36 58 44 13 31 10 47 6.6 | (18) 800 1600
PR2010 20 10 2.7x1 8790 18 500 36 58 44 13 45 15 47 6.6 | (18) 800 1600
PR2505 25 5) 3.7x1 15700 40 900 40 62 48 12 42 10 5 6.6 | (21) 2500 3200
PR2510 25 10 3.7x1 12800 32300 40 62 48 12 56 15 51 6.6 | (21) 2 500 3200
PR3210 32 10 3.7x1 19 000 51 500 50 80 62 12 59 10 65 9 (21) 3200 4000
PR3220 32 20 3.7x1 19 000 51 500 50 80 62 12 98 15 65 9 (21) 3200 4 000
PR4010 10 10 3.7x1 33 800 89 900 63 93 70 14 60 10 78 9 (21) 1600 3200
LPR Series Unit: mm
Shaft . : " : Maximum screw
Lead B load rati D
Model No. diameter ea Effective turns| asic load rating (N) imensions shaft length
d ’ of balls Dynamlc load Stalt|c load D A G B L c w % M ct5 ct7
rating Ca rating Coa
LPR2020 20 20 1.7x2 9890 21 600 36 58 44 13 54 25 47 6.6 | (18) 800 1600
LPR2525 25 25 1.7x2 11 000 27 500 40 62 48 12 63 30 51 6.6 | (21) 2 500 3200
LPR3232 32 32 1.7x2 16 300 43 900 50 80 62 14 79 40 65 9 21) 3200 4 000
LPR4040 40 40 1.7x2 29 000 76 200 63 93 70 16 94 45 78 9 21) 4 000 6 500
LPR5050 50 50 1.7x2 32 200 96 200 75 110 85 18 115 45 93 11 21) 4 000 6 500

* Please, consult NSK.

** only for reference.

167



NSK

2. Recommendation of Screw Shaft End Configuration

2.1 Drive side shaft end and opposite end: P 2.2 Drive side shaft end and opposite end: R
Unit: mm
Screw shaft Screw shaft Tap hole
Diameter d - _ Diameter d Size M Depth H
12 12 M3x0.5 9
15 -l 15 M4x0.7 10
2 20 — 20 M6x1 12
25 / 25 M6x1 12
32 32 M6x1 12
40 M/ 40 M8x1.25 16
50 50 M8x1.25 16

2.3 Opposite to drive side shaft end: S

Support unit Screw shaft | Bearing journal Snap ring groove
| et e | O [P [leen | W, | e, [
%L WBK08S-01 12 6 9 0.8'%" 5.7 908 6.8
g = WBK125-01 15 10 12 1.15°8" 9650 9.15
L WBK155-01 20 15 13 1,155 14.3%51 10.15
n WBK20S-01 25 20 19 135181 19821 15.35
ot 2 WBK255-01 32 25 20 1.35'%" 23.982 16.35
L (6208) 40 30 22 1.75%" 28.6 821 17.75
(6207) 50 35 25 1.75'8™ 3382 18.75

(): Reference number of bearing

2.4 Opposite to drive side shaft end: T

Support unit Screw shaft | Bearing journal ‘Snap ring groove Tap hole
H ' Diameter | Diameter th Width Diameter | Position Size
'_“ Beferancs mber d d g6 Lulf 1 Towrnce | dn Tomrcs | Nl i i

L " WBK08S-01 12 6 9 0.8 5.7 80n 6.8 - -
8 §L_ = . o WBK12S-01 15 10 12 115" 9.680 9.15 M3x0.5 9
| WBK155-01 20 15 13 1.15'8" 143851 10.15 M3x0.8 10
mfl n [ WBK20S-01 25 20 19 1.35°5" 1952 1535 | M6x1.0 | 12
al. WBK25S-01 32 25 20 1.35'%" 23.9821 16.35 M6x1.0 12
L (6206) 40 30 22 1.75'8" 28.6 921 17.75 MBx1.25 | 16
(6207) 50 35 25 1.75'8" 3352 18.75 M8x1.25 | 16

: Reference number of bearing

2.5 Drive side shaft end: C Opposite to drive side shaft end: U

e . E_, Spacer
_l\ e
I
E=my = 1 k)
ety - H =
i
M =
|_miy |
Ly
Unit: mm
Support unit Spacer Screw shaft Bearing journal Lock nut thread Hexagon hole
Reference Diameter Diameter | Length | MNominal Length | Width across | Depth
SRR number d d; g6 Ly ms mLs B‘igm H

WBKO08-01A WBK08-11 WBKO8K 12 8 32 M8x1 9 - -
WBK12-01A WBK12-11 WBK12K 15 12 35 M12x1 10 4 6
WBK15-01A WBK15-11 WBK15K 20 11 50 M15x1 74 2 T
WBK20-01 WBK20-11 WBK20K 25 20 64 M20x1 16 6 8
WBK25-01 WBK25-11 WBK25K 32 25 76 M25x1.5 20 8 10
WBK30DF-31 - 40 30 89 M30x1.5 26 10 2
WBK35DF-31 - 50 35 92 M35x1.5 30 12 14

168



Precision Rolled Ball Screws PR Series/LPR Series

m

2.6 Opposite to drive side shaft end: V

B — - 3
w
Y mLy F P i
Ly
Unit: mm
Support unit Screw shaft Bearing journal Lock nut thread Key seat
. Diameter | Diameter | Length | Nominal | Length | Width | Position | Depth | Length
Reference number : .
S d d; gé Ly ms mly K N9 P g F
WBKO08-01A WBKO08-11 12 8 32 M8x1 9 2 3 1.2 14
WBK12-01A WBK12-11 15 12 35 M12x1 10 4 3 2.5 20
WBK15-01A WBK15-11 20 15 50 M15x1 15 5 3 3 25
WBK20-01 WBK20-11 25 20 B4 M20x1 16 6 4 3.5 30
WBK25-01 WBK25-11 32 25 76 M25x1.5 20 8 4 4 40
WBK30DF-31 40 30 B89 M30x1.5 26 8 5 4 40
WBK35DF-31 50 35 92 M35x1.5 30 10 5 5 50
2.7 Drive side shaft end: A1
*Refer to page 4 2.1 and 2.2 for the dimensions of
—ZE Spacer my A1 orless drive side shaft end of P and R.
T
H - =7 o
8 —3 —EY B
1
=t I
Ly Ly
Unit: mm
Support unit Spacer Screw shaft Bearing journal Lock nut thread Drive section Hexagon hole
e Reference Diameter | Diameter | Length | Nominal | Length | Diameter |Length Whﬁa fooss Depth
Heference nuitber number d d; g6 3 ms mly, | dih; Ls B'¥ H
WBK08-01A WBKD08-11 WBKO08K 12 8 32 Mex1 2 6 10 = =
WBK12-01A WBK12-11 WBK12K 15 12 35 M12x1 10 10 15 4 6
WBK15-01A WBK15-11 WBK15K 20 15 50 M15x1 15 12 20 5 7
WBK20-01 WBK20-11 WBK20K 25 20 64 M20x1 16 15 27 6 8
WEBK25-01 WBK25-11 WBK25K 32 25 76 M25x1.5 20 20 33 8 10
WBK30DF-31 - 40 30 89 M30x1.5 26 25 61 10 12
WBK35DF-31 - 50 a5 92 M35x1.5 30 30 63 12 14
2.8 Drive side shaft end: A3
*Refer to page 4 2.1 and 2.2 for the dimensions of
E , Spacer my FA1orless  drive side shaft end of P and R.
7 1 =
7T : :
: ® -2 - : 3
\ -
e mLy P
u s T Ly Lo
Unit: mm
Support unit ‘Spacer |Screw shaft| Bearing journal Lock nut thread Drive section D Wrench flats
: : Reference | Diameter | Diameter | Length | Nominal | Length | Diameter | Length |Position| Depth | Width across | Position | Length
Gt number d dige | L m, it | dhae | P | w | U T s
WBKO08-01A | WBKOB-11 | WBKOBK 12 8 32 M8:x1 9 6 10 2 55 1082 4 55
WBK12-01A | WBK12-11 | WBK12K 15 12 a5 M12:x1 10 10 15 3 9 12825 6 6.5
WBK15-01A | WBK15-11 | WBK15K 20 15 50 M15x1 15 12 20 3 11 17 825 6 8.5
WBK20-01 WBK20-11 | WBK20K 25 20 64 M20x1 16 15 27 4 14 228 10 1
WBK25-01 WBK25-11 | WBK25K 32 25 76 M25x1.5 20 20 33 4 19 328, 10 15
WBK30DF-31 - 40 30 89 M30x1.5 26 25 61 5 24 36.81 16 16
WBK35DF-31 - 50 35 92 M35x1.5 a0 30 63 5 29 4138, 16 18

169



NSK

2.9 Drive side shaft end: A4

E _ Spacer my A1orless
ﬁ\ 1 . 1 / x
B
\L/ :
" mLy P
u 5 T Ly Lz ¥
Unit: mm
Support unit Spacer |Screw shaft| Bearing journal | Lock nutthread | Drive section Key seat Wrench flats
nCeninber Reference | Diameter | Diameter | Length Norjlnal Length | Diameter | Length | Width | Position | Depth kit Position | Length
number d d, g6 L, m mL, | d:h; L, |KN9 P Y4 | U Tolerance T s
WBKO0B-01A | WBKO08-11 | WBKOBK 12 8 32 Max1 a8 6 10 - - - 1042 4 5.5
WBK12-01A | WBK12-11 | WBK12K 15 12 35 | M2 10 10 15 2 3 1.2 12 §2s 6 6.5
WBK15-01A | WBK15-11 | WBK15K 20 15 50 | M15x1 15 12 20 4 3 2.5 17 82 6 B.5
WBK20-01 | WBK20-11 | WBK20K 25 20 64 | M20x1 16 15 27 5 4 3 228, 10 "
WBK25-01 WBK25-11 | WBK25K 32 25 76 M25x1.5 20 20 33 6 4 35 328s 10 15
WBK30DF-31 - 40 30 89 M30x1.5 26 25 61 8 5 4 3683 16 16
WBK35DF-31 - 50 35 92 M35x1.5 | 30 30 63 8 5 4 4138, 16 18
2.10 Drive side shaft end: A5
E _, Spacer m;, A1lorless
s a / / B8
I
| P =
o I 5 = = =
B I B = =
| i
R mLs P Lﬁ_ Y
Ly Lz
Unit: mm
Support unit Spacer |Screw shaft| Bearing journal | Lock nut thread Drive section Key seat Wrench flats
Width across
Reforance nire Reference | Diameter Diurlater Length| Nominal |Length | Diameter | Length | Width | Position | Depth | Length el Depth
number d d, gé Ly my mL, d, h; L, |KNS e LACH F B'§ H
WBKO08-01A | WBKD8-11 | WBKOBK 12 8 32 MBx1 a 6 10 - - - - - -
WBK12-01A | WBK12-11 | WBK12K 15 12 35 | M2 10 10 15 - - - - 4 6
WBK15-01A | WBK15-11 | WBK15K 20 15 50 | M15x1 15 12 20 4 3 2.5 7 5 7
WBK20-01 WEBK20-11 | WBK20K 25 20 64 | M20x1 16 15 27 5 4 3 10 6 8
WEBK25-01 WBK25-11 | WBK25K 32 25 76 M25x1.5 20 20 33 6 4 3.5 15 8 10
WEBK30DF-31 - 40 30 89 | M30x1.5 | 26 25 61 8 5 4 40 10 12
WBK35DF-31 = 50 35 92 M35x1.5 30 30 8 =) 4 40 12 14
2.11 Spacer
Unit: mm
Bearing " .
Reference | journal Spacer dimensions
number | piameter| Bore | Diameter| Width
g 413 d da D E
WBKO08K 8 8 11.5 oI5
WBK12K 12 12 14.5 55
WBK15K 15 15 19.5 10
S WBK20K 20 20 2515) 11
WBK25K 25 25 32 14

170




Rolled Ball Screws R-Series

e Short delivery time: R Series is standardized, and
available in stock.

e Interchangeable screw shaft and ball nut: Screw shaft
and nut assembly components are sold separately, and
randomly-matched. The maximum axial play after as-
sembly is shown in the dimension tables.

e Low prices: Screw shaft is processed by rolling. This is
why prices are lower than those of precision types.

e Abundant series: There are 128 types of nut assembly
combinations in the series. Each combination has two
to three different lengths in screw shaft.

171

14



172



Rolled Ball Screws R-Series

Rolled Ball Screws

Nut model Picture group Recirculation system | Lead classification
RNFTL Flanged, Return tube type Fine, medium lead
Tube projecting type High helix lead
RNFBL Flanged Circular Return tube type Fine, medium lead
V-thread
RNCT ¥ (no flange) Return tube type Fine lead
Projecting tube type
RNSTL Square type Return tube type Small, medium
leads
RNFCL i Flanged Circular End cap type High helix lead
Ultra high helix lead
e Short delivery time: R Series is standardized, and available in e Low prices: Screw shaft is processed by rolling. This is why
stock. prices are lower than those of precision types.
¢ Interchangeable screw shaft and ball nut: Screw shaft and e Abundant series: There are 128 types of nut assembly com-
nut assembly components are sold separately, and randomly- binations in the series. Each combination has two to three
matched. The maximum axial play after assembly is shown different lengths in screw shaft.

in the dimension tables.

Reference number

Nut assembly (example)

RNFTL 2510

Product code (rolled nut) |

Nut model FTL, FBL, STL,
CT, FCL

Screw shaft diameter (mm)

Seal code S: With seal

No code: Without seal

balls x circuit number)

1 Effective turns of balls (turns of

Internal design code

Lead (mm)

Screw shaft (example)

RS2510A

20

Product code (Rolled screw shaft) |

Screw shaft diameter (mm)

| Screw shaft length (x 100 mm)

Internal design code

Lead (mm)

173



NSK

Oil hole Q
Arbor
|
o o
3 ¥ R S
B G
L, w
Effective H H
Shaft | Lead | Ball Ball Root [tums ot tais| Basic load rating Axial
_ , circle . Turns N
Ball nut No. dia. dia. dia dia. 5 : : plax
3 } 5 ) d X ynamic| Static Max.
W d, Circuits G, Cos
RNFTL 1003A3.5 10 3 [2.381| 10.65 | 8.0 | 3.5x1 3780 6730 0.10
RNFTL 1006A2.5S 10 6 [2.381] 10.65 8.1 2.5x1 2830 4810 0.10
RNFTL 1208A2.5S 12 8 [2.778] 12.65 | 9.6 | 2.5xI1 3730 6560 0.10
RNFTL 1404A3.5S 14 4 12.778| 14.5 11.5 | 3.5x1 5370 10800 0.10
RNFTL 1405A2.5S 14 5 |3.175| 14.5 11.0 | 2.5x1 5260 9720 0.10
RNFTL 1610A2.5 16 10 |3.175] 16.75 | 13.3 | 2.5x1 5660 11500 0.10

RNFTL 1610A2.58
RNFTL 1808A3.5
RNFTL 1808A3.5S
RNFTL 2005A2.5
RNFTL 2005A2.5S
RNFTL 2010A2.5
RNFTL 2010A2.58
RNFTL 2505A5
RNFTL 2505A5S
B 2.5x1 | 17500 | 35200
RNFTL2510A2.58 | o | o |2 |06 |19 0.20
RNFTL 2510A5 ' | 2.5x2 | 31800 | 70300
RNFTL 2510A58 '

Remarks 1. Protruding portion of the tube does not have any interference with the ball nut housing if its dimensions
corresponding to U and V are large enough.
2. The actual entire screw shaft length may become slightly longer than nominal length Ls due to manufacturing
tolerance.
3. Seal is contained in the nut. Therefore, the external dimensions of those with a seal are the same as those without.
In the side view drawing of ball nut, the above of the center line is with seal, and beneath is without seal.
Seal for those with the shaft diameter of 14 mm or less is made of synthetic resin. Seal for those of 16 mm or over is
a "Brush-seal."

18 8 |4.762| 185 | 13.6 | 3.5x1 13200 | 25800 | 0.15

20 5 |3.175] 20.56 [ 17.0 | 2.5x1 6360 14200 | 0.10

20 10 |4.762| 21.25 | 16.2 | 2.5x1 10900 | 21800 0.15

25 5 |3.175] 26,5 | 22.0| 2.5x2 | 12800 | 36300 | 0.10

174



Rolled Ball Screws R-Series

E -
ko] — — — — e e}
g S H 2
AV
Ls
Unit: mm
Ball nut dimensions Arbor Screw shaft
Outside Flange Length| Bolt hole | Oil hole | Projecting tube | 945% | Bore | Standard length | Screw shaft
D L, Q d, d L. No.

20

25

30 | B3 | 23 | 10| 54 | 41 | 5.6| M6x1 | 23 |225| 8 | 13.3|11.3 | 500 | 1000 | 1500 | RS1610A**

40 | 60 | 28 | 10| 46 | 50 | 45| M6x1 | 28 |27 | 10 | 17.0 | 14.6 | 500 | 1000 | 2000 | RS2005A**

42 | 71 | 28 | 12| 66 | 57 | 6.6| M6x1 | 28 | 31 10 | 22.0 | 19.6 | 1000 | 2000 | 2500 | RS2505A**

Remarks 4. Nut assembly with arbor and the screw shaft are separated at time of delivery.
5. At the end of the screw shaft reference number where marked with "**", fill with the value obtained by dividing the
standard screw shaft length by 100 mm.
6. ltems in stock are not applied surface treatment. NSK provides treatment such as phosphate coating on request.

175



NSK

QOil hole Q
i 5-X drill thru.
| o
- -—— ( ‘ ( h_-_-
< S| 3
o S S
B G
Ln w
Shaft | Lead | Ball | D2 | Root [umisiugs| Basicloadrating |-,y
. ; circle . Turns N
Ball nut No. dia. dia. dia dia. - : play
d / D : d _x |Dynamic| Static | o
w d, | Circuits C, C.,

RNFTL 2806A2.5
RNFTL 2806A2.5S
RNFTL 2806A5
RNFTL 2806A5S
RNFTL 3210A5
RNFTL 3210A5S
RNFTL 3610A2.5
RNFTL 3610A2.5S
RNFTL 3610A5
RNFTL 3610A5S
RNFTL 4010A7
RNFTL 4010A7S
RNFTL 4512A5
RNFTL 4512A5S
RNFTL 5010A7
RNFTL 5010A7S
RNFTL 5016A5
RNFTL 5016A5S

2.5x1 7430 | 20300
28 6 |[3.175| 28,5 | 25.0 0.10
2.5x2 | 13500 | 40600

32 10 |6.35 | 33.75| 27.0 | 2.5x2 | 35700 | 92200 0.20

2.5x1 | 21000 | 51000
36 10 |6.35 | 37 30. 0.20
2.5x2 | 38100 | 102000

40 10 |6.35 | 41.75| 356.0 | 3.5x2 | 53500 | 164000 | 0.20

45 12 |7.144] 46.5 | 39.0 | 2.6x2 | 49600 | 147000 | 0.23

50 10 |6.35 | 51.75| 45.0 | 3.5x2 | 59500 | 205000 | 0.20

50 16 |9.525| 52 42.0 | 2.5x2 | 99900 | 293000 | 0.23

Remarks 1. The protruding portion of the tube does not interfere with nut housing if its corresponding dimensions to U and V are
large enough.
2. The actual screw shaft length may become slightly longer than nominal length of Ls due to manufacturing tolerance.
3. The seal is contained in the nut. Therefore, the external dimensions of those with a seal are the same as those
without.
In the side view drawing of the nut, the above of the center line is with seal, and beneath is without seal.
Seal is "Brush-seal".

176



Rolled Ball Screws R-Series

e [
e} ] — — — H — e
g S H Q.
W
Ls
Unit: mm
Ball nut dimensions Arbor Screw shaft

Outside Flange Length| Bolt hole | Oil hole | Projecting tube | %Usi% | Bore | Standard length | Screw shaft

D L Q d, | d L, No.

Remarks 4. Nut assembly with arbor and the screw shaft are separated at time of delivery.
5. At the end of the screw shaft reference number where marked with "**", fill with the value obtained by dividing the
standard screw shaft length by 100 mm.
6. Items in stock are not applied surface treatment. NSK provides treatment such as phosphate coating on request.

177



NSK

Oil hole Q

30 30°

4-X drill thru.
_ 7R |
N
<L o ©
RNESYERSY /
%I@Q/
J v LU M
B G
Ln W
. Ball Effective turns| Basic load rating
Shaft Lead |Balldia.| Root dia. Axial
, circle (N)
Ball nut No. dia. dia Turns . —| play
a , D, . d X Dynamic| Static Max.
o Circuits [ ¢ C..

RNFTL 1212A3 12 12 | 2.381/12.65| 10.1 [1.5x2 |3360|6270| 0.10
RNFTL 1616A3
RNFTL 1616A3S

16 16 | 2.778|16.65| 13.6 |1.5x2 4880 |9650| 0.10

ﬁxilt Zgig:gs 20 20 | 3.175/20.75| 17.3 |1.56x2 | 7010 |15400f 0.10
Exilt ;Z;;:gs 25 25 | 3.969| 26 22.0 |1.5x2{10500{24100| 0.12
2x:z:t 2222::8 32 32 | 4.762|33.25| 28.0 |1.5x2|15300|37100| 0.15
§x::lt :g:g:gs 40 40 |6.35 |41.75| 35.0 |1.5x2|24400/61600| 0.20

Remarks 1. Protruding portion of the tube does not have any interference with the ball nut housing if its dimensions corresponding
to U and V are large enough.
2. The actual entire screw shaft length may become slightly longer than nominal length Ls due to manufacturing tolerance.
3. Seal is contained in the nut. Therefore, the external dimensions of those with a seal are the same as those without.
In the side view drawing of ball nut, the above of the center line is with seal, and beneath is without seal.
Seal for those with the shaft diameter of 14 mm or less is made of synthetic resin. Seal for those of 16 mm or over is a
"Brush-seal."

178



Rolled Ball Screws R-Series

Pl _,
2
-
|
|
|
P
od

65
Ls
Unit: mm
Ball nut dimensions Arbor Screw shaft

Ousidd  Flange  |Length| Bolt hole | Qil hole | Projecting tube | %% | Bore | Standard length

Screw shaft No.
plalele||w|x] @ [u]Vv|[AR]a&]d L.
24 144 \117| 8 |44 | 34| 45M3x05 17 |16| 5 [10.1| 8.1 400 800 RS1212A**

30|55(22{10|50 | 43| 6.6{M6 x1| 22|22| 7 |(13.6[/11.6] 500 1000 1500 | RS1616A**

35(68(25(12|59 | 52| 9 [(M6x1|25|27| 8 [17.3[14.9] 500 1000 2000 | RS2020A**

45(80(31(12|69| 63| 9 |[M6x1| 31 |32|10(22.0{19.6/ 1000 2000 2500 | RS2525A**

55 100/ 37(15 (84| 80|11 |[M6x1| 37|40 |12 (28.0{25.6/ 1000 2000 3000 | RS3232A**

70 [120[46[18 |103| 95|14 M6 x 1| 46 | 49| 15|35.0|31.8| 2000 3000 4000 | RS4040A**

Remarks 4. Nut assembly with arbor and the screw shaft are separated at time of delivery.
5. At the end of the screw shaft reference number where marked with "**", fill with the value obtained by dividing the
standard screw shaft length by 100 mm.
6. Iltems in stock are not applied surface treatment. NSK provides treatment such as phosphate coating on request.

179




NSK

QOil hole Q
T
Seals (both ends) 4-X drill thru.
T Q i
Ll S
L Arbor
| < R -
| o
r\w : _ r’/ 3
| PRl
RSN | — - | L
L — il j i | - — -
TS i 3 5 2
B () H
Ln w
Shaft | Lead |Balldia.| Ball |Root dia | —oisas | Basicloadrating] .
. circle Turns (N)
Ball nut No. dia. di - — Pplay
d / D 1a. d X Dynamic| Static Max
" d, ' Circuits C, Co :
RNFBL 1006A2.5S 10 6 2.381| 10.65 8.1 2.5X1 2830 | 4810 | 0.10
RNFBL 1208A2.5S 12 8 2.778 | 12.65 9.6 2.5%X1 3730 | 6560 | 0.10
RNFBL 1404A3.5S 14 4 2.778 | 14.5 11.5 3.5 X1 5370 | 10800 | 0.10
RNFBL 1405A2.5S 14 5 3.175| 14.5 11.0 2.5X1 5260 | 9720 | 0.10
RNFBL 1808A3.5S 18 8 4762 | 18.5 13.6 3.56X1 |13200f 25800 | 0.15
RNFBL 2005A2.5S 20 5 3.175| 20.5 17.0 2.5%X1 6360 | 14200 | 0.10
RNFBL 2010A2.5S 20 10 4762 | 21.25 16.2 2.5%X1 110900[ 21800 | 0.15
RNFBL 2505A2.5S 2.5X1 7070 | 18200
RNFBL 2505A5S 25 5 31751 285 22.0 2.5X2 |12800| 36300 0.10
RNFBL 2510A2.5S 2.5%X1 |17500( 35200
RNFBL 2510A5S e Y 8 8 R 2.5X%X2 131800 70300 200
RNFBL 2806A2.5S 2.5X1 7430 | 20300
RNFBL 2806A5S 28 6 31751 285 260 2.5x%x2 |13500( 40600 0.10
RNFBL 3210A2.5S 2.5X1 |19700( 46100
RNFBL 3210A5S 82 1 62k SEL79 2T 2.5X2 |35700f 92200 00
RNFBL 3610A2.5S 2.5X1 |21000{ 51000
RNFBL 3610A5S 36 10 6.35 37 30.0 2.5%x2 |38100[102000 0.20
RNFBL 4010A5S 40 10 6.35 41.75 35.0 2.5X2 |401 00,1 16000| 0.20

Remarks 1. The actual screw shaft length may be slightly longer than nominal length Ls due to manufacturing tolerance.
2. Nut assembly with arbor and screw shaft are separated at time of delivery.
3. The value obtained by dividing the standard screw length by 100 mm will be entered at the end of the reference
number where marked with "* *."

180




Rolled Ball Screws R-Series

Ses W {| " A
S RN ! (R
S| \\ o - 2
s sy [ \ I \ he
N I
Ls
Unit: mm
Ball nut dimensions Arbor Screw shaft
Ugiside Flange Length | Bolt hole Oil hole Outside T Bore Standard length
ey Screw shaft No.

D A H B L) W| X Q T d, d, L,

26 42 29 8 36| 3 |34| 45 | M3X0.5( 5.0 8.1 6.1 400 800 RST006A**
29 45 32 8 441 3 | 37| 45 | M3X0.5| 5.5 9.6 7.6| 400 800 RS1208A**
31 50 37 10 [40| 4 | 40| 45 | M6 X1 50 ([11.5| 95| 500 1000 RS1404A**
32 50 38 10 |40 | 4 | 40| 4.5 | M6 X1 5.0 [11.0 9.0| 500 1000 RS1405A**
50 80 60 12 |61 | 4 | 65| 6.6 | M6 X1 6.0 13.6|11.6| 500 1000 1500 RS1808A**
40 60 46 10 [40| 4 | 50| 4.5 | M6 X1 50([17.0146| 500 1000 2000 RS2005A**
52 82 64 12 |61 | b | 67| 6.6 | M6 X1 6.0 [16.2 | 13.8| 500 1000 2000 RS2010A**
43 67 50 10 gg 4 | 55| 55 | M6 X1 50 (22.0(19.6| 1000 2000 2500 RS2505A**
60 96 72 15 gg 5 178]| 9.0 | M6 X1 7.5 119.0 | 16.6 | 1000 2000 2500 RS2510A**
50 80 60 12 g; 5 | 65| 6.6 |M6X1 6.0 [ 25.0|22.6| 1000 2000 2500 RS2806A**
67 103 | 78 15 g; 5 (85| 9.0 | M6X1 75 1(127.0|24.6| 1000 2000 3000 RS3210A**
70 110 | 82 17 gg 5190|11.0| M6X1 8.5 [30.027.6| 1000 2000 3000 RS3610A**
76 116 | 88 17 (99| 5 | 96| 11.0 | M6 X1 8.5 135.0[31.8| 2000 3000 4000 RS4010A**

Remarks 4. Items in stock are not applied surface treatment. NSK provides treatment such as phosphate coating on request.
5. Seal for those with the shaft diameter of 14 mm or less is made of synthetic resin. Seal for those with 16 mm or
larger is "Brush-seal."

181




NSK

Seals (both ends) Arbor

\_7

oD
%

M

8S
$d,
¢d|

g W
\\\\\\ Q)

Effective turns B .
Shaft | Lead |Balldia.| Bl |Root dia|oisals |Basicloadrating | » ..\
. circle Turns (N)
Ball nut No dia. dia . —1 play
d i D : d X Dynamic| Static | nax.
" dr Circuits C, Con

RNCT 1003A3.5 10 3 2.381| 10.65 8.0 3.56x1 | 3780 | 6730 | 0.10

RNCT 1404A3.5S 14 4 2.778 | 14.5 11.5 3.5 x1 5370 [ 10800 | 0.10

RNCT 1405A2.5S 14 B 3.175| 145 11.0 2.5 x1 5260 | 9720 | 0.10

RNCT 1808A3.5
RNCT 1808A3.5S 18 8 4.762| 18.5 13.6 | 3.5x1 [13200(25800| 0.15
RNCT 2005A2.5

RNCT 2005A2.5S 20 5 3.175| 20.5 17.0 | 25x1 | 6360 14200 0.10
RNCT 2505A5

RNCT 2505A5S 25 5 3.175| 25.5 22.0 | 25x2 [12800(|36300| 0.10
RNCT 2510A5

RNCT 2510A5S 25 10 6.35 26 19.0 | 25x2 [31800|70300| 0.20
RNCT 2806A5

RNCT 2806A5S 28 6 3.175| 28.5 25.0 | 256 x2 |[13500({40600| 0.10
RNCT 3210A5

RNCT 3210A5S 32 10 6.35 | 33.75 | 27.0 | 2.5x2 |35700|92200| 0.20
RNCT 3610A5

RNCT 3610A5S 36 10 6.35 37 30.0 | 2.6 x2 [38100{102000| 0.20
RNCT 4010A7

RNCT 4010A7S 40 10 6.35 | 41.75 | 35.0 | 3.5x2 |53500(164000{ 0.20
RNCT 4512A5

RNCT 4512A5S 45 12 7.144 | 46.5 39.0 | 2.6 x2 [49600(147000| 0.23
RNCT 5010A7

RNCT 5010A7S 50 10 6.35 51.75 | 45.0 | 3.5x2 [59500(205000{ 0.20
RNCT 5016A5

RNCT 5016A5S 50 16 9.5625| 52 42.0 | 2.5x2 [99900(293000( 0.23

Remarks 1. Protruding portion of the tube does not have any interference with the ball nut housing if its dimensions
corresponding to U and V are large enough.
2. The actual entire screw shaft length may become slightly longer than nominal length Ls due to manufacturing
tolerance.
3. A seal cannot be installed in the V thread side. It may be installed in the opposite side.
Seal is contained in the nut. Therefore, the external dimensions of those with a seal are the same as those without.
In the side view drawing of ball nut, the above of the center line is with seal, and beneath is without seal.

182




Rolled Ball Screws R-Series

E [
S| _| _ _ _ T | O
g S H =
A\
Ls
Unit: mm
Ball nut dimensions Seal dimensions Arbor Screw shaft
Quiside Flange Length | Projecting tube  |Diameter Thickness| *%45% | Bore | Standard length

D

25

34

M32x1.5

L,

58

27

27

S T

285| 25

dy d;

13.6(11.6

L,

500 1000 1500

Screw shaft No.

RS1404A%*

RS1808A**

42

M40 x1.5

69

28

31

345 2.5

22.0|19.6

1000 2000 2500

RS2505A**

50

M45x1.5

79

33

34

37.5| 2.5

25.0|22.6

1000 2000 2500

RS2806A**

60

M5b5 x 2

98

42

46

50.5| 3.0

30.0| 27.6

1000 2000 3000

RS3610A**

70

M65 x 2

30

124

47

55

20

60.5| 3.0

39.0|35.8

2000 3000 4000

RS4512A%**

85

M80 x 2

40

1568

57

63

25

68.5| 3.0

42.0(38.8

2000 3000 4000

RS5016A**

Seal for those with the shaft diameter of 14 mm or less is made of synthetic resin. Seal for those of 16 mm or over is
a 'Brush-seal."
There is no seal on the V-thread side for RNCT1404A3.5S and RNCT1405A2.5S
4. Nut assembly with arbor and the screw shaft are separated at time of delivery.
5. At the end of the screw shaft reference number where marked with "**", fill with the value obtained by dividing the

standard screw shaft length by 100 mm.

6. Items in stock are not applied surface treatment. NSK provides treatment such as phosphate coating on request.

—_—

83



NSK

C A Seals (both ends) F
E Arbor M6 X 1 (oil hole) 4-Jtap hole, K deep
T ]
_ Il III [P” I Il’: \\”
T Ty T
[ 11 'T I 1
=1=1N ===
I I
S / ) I — S
I I
IZU:II Q;/ ||—_*J-——— \
I I
o e
\\F” \\FII
G
Ln U max. H
Effective turns . .
Shaft | Lead |Balldia.| B2 |Root dia|—cioals | Basicloadrating] , .,
. circle Turns (N)
Ball nut No. dia. dia . — play
d i D : d X Dynamic| Static | nax.
" ah Circuits C Cor

RNSTL 1404A3.5S5| 14 4 2.778| 145 1156 | 3.6 X1 | 56370 [ 10800 | 0.10
RNSTL 1405A2.55| 14 5 3.175] 145 11.0 | 2.5X1 | 5260 | 9720 | 0.10
8
5

RNSTL 1808A3.5S| 18 4.762| 18.6 13.6 | 3.5X1 [13200|25800| 0.15
RNSTL 2005A2.5S5| 20 3.175| 20.5 17.0 | 2.5X1 | 6360 | 14200| 0.10

RNSTL 2010A2.5S| 20 10 4.762 | 21.25 | 16.2 | 2.5X1 [10900[21800| 0.15
RNSTL 2505A2.5S| 25 5 3.175| 25.6 22.0 | 2.56X1 [ 7070 [18200] 0.10
RNSTL 2510A5S 25 10 6.35 | 26 19.0 | 2.5X1 [31800|70300| 0.20
RNSTL 2806A2.5S 2.5X1 | 7430 [ 20300

RNSTL 2806A5S 28 6 3175 285 26.0 2.5X2 13500(40600 0-10
RNSTL 3210A2.5S 2.5X1 ]19700|46100

RNSTL 3210A5S 2 10 6.35 | 33751 270 2.5X2 ]35700]92200 0.20
RNSTL 3610A2.5S 2.5X1 121000({51000

RNSTL 3610A5S 36 10 6.35 | 37 30.0 2.5X2 |38100(102000 0.20
RNSTL 4512A2.5S| 45 12 7.144 | 46.5 39.0 | 2.56X2 [49600|147000| 0.23

Remarks 1. The actual screw shaft length may be slightly longer than nominal length Ls due to manufacturing tolerance.
2. Nut assembly with arbor and screw shaft are separated at time of delivery.
3. The value obtained by dividing the standard screw length by 100 mm will be entered at the end of the reference
number where marked with "* *."

184



Rolled Ball Screws R-Series

A _
gl o
S| S| _ o _ | o
S o .
Ls
Unit: mm
Ball nut dimensions Arbor Screw shaft
Length | Width | &erier Bolt hole Oil hole Ouis9e] Bore Standard length
Screw shaft No.
L, % H A B| C J | K E F U ay d, L,
38 34 13 | 22| 26| 8 |M4| 7 7 3 |20 [115] 95| 500 1000 RS1404A**
38 34 13 22| 26 |105| M4 | 7 7 3 21 111.0 9.0 500 1000 RS1405A**
56 48 17 | 35| 36 |11 M6| 10| 8 | 3 | 26 [136|11.6| 500 1000 1500 | RS1808A**
38 48 17 22| 35| 8 M6 | 9 6 2 27 | 17.0]14.6 500 1000 2000 RS2005A**
58 48 18 | 35| 35 [11.5(M6| 10 | 10| 2 | 28 |16.2|13.8| 500 1000 2000 | RS2010A**
35 60 20 | 22| 40| 6.5/ M8| 10 | 6 0 | 27 [22.0]19.6| 1000 2000 2500 | RS2505A**
94 60 23 | 60| 40|17 [M8] 12|10 | O | 32 |19.0| 16.6 | 1000 2000 2500 | RS2510A**
42 | 60 | 22 | 18] 40 [12 s
67 60 29 | 201 40 l135 M8| 12 | 8 0 | 32 |25.0|22.6| 1000 2000 2500 | RS2806A
64 70 26 | 45| 50 | 9.5 v
94 70 26 | 601 50 [17 M8| 12 [ 10| O | 38 [27.0|24.6| 1000 2000 3000 | RS3210A
64 86 29 | 45|60 | 95 v
96 56 29 | 601 60 |18 M10| 16 | 11 | O | 41 |30.0|27.6| 1000 2000 3000 | RS3610A
115 | 100 | 36 | 75| 75 (20 |[M12| 20 [ 13| O | 46 |39.0 | 35.8| 2000 3000 4000 | RS4510A**

Remarks 4. Items in stock are not applied surface treatment. NSK provides treatment such as phosphate coating on request.
5. Seal for those with the shaft diameter of 14 mm or less is made of synthetic resin. Seal for those with 18 mm or
larger is "Brush-seal."

185



NSK

Oil hole Q
Arbor 4-X drill thru.
41/
y /1l
i ,,,V,,, -
F
SIS j s .
E|B
M L, M
Shaft | Lead |Balldia.| Ball Rootdia.EHe;Cigfr'}:"S BaSiC'(O,j;“a“”Q Axial
Ball nut No. dic?. l 5 dia. J % Dynamic| Static l\F}Ilz?Z
N dr ' Circuits C, Cos '
RNFCL 1212A3 17x2 | 3740 | 6640
RNFCL 1212A6 12 1212381\ 12,85 | 101 = on 6780 [13300 | 1O
RNFCL 1520A3 15 20 | 3175| 155 | 122 | 1.7x2 | 6730 | 12300 | 0.10

RNFCL 1520A3S
RNFCL 1616A3
RNFCL 1616A3S
RNFCL 1616A6
RNFCL 1616A6S
RNFCL 2020A3
RNFCL 2020A3S
RNFCL 2020A6
RNFCL 2020A6S
RNFCL 2525A3
RNFCL 2525A3S
RNFCL 2525A6
RNFCL 2525A6S
RNFCL 3232A3
RNFCL 3232A3S
RNFCL 3232A6
RNFCL 3232A6S
RNFCL 4040A3
RNFCL 4040A3S
RNFCL 4040A6
RNFCL 4040A6S
RNFCL 5050A3
RNFCL 5050A3S
RNFCL 5050A6
RNFCL 5050A6S

1.7 x2 | 5430 | 10400
16 16 2.778 | 16.65 | 13.5 0.10
1.7 x4 | 9860 | 20800

1.7x2 | 7810 | 16500
20 20 3.175| 20.75 | 17.3 0.10
1.7 x4 [14200| 33000

1.7x2 | 11700/ 25800
25 25 .96 26 22.0 0.12
1.7 x4 21200 51500

1.7x2 [17100] 40500
32 32 4.762 | 33.25 | 28.0 0.15
1.7 x4 |[31000| 81000

1.7 x2 |27200| 67900
40 40 6.35 | 41.75 | 35.0 0.20
1.7 x4 49300136000

1.7x2 40600106000
50 50 7.938 | 52.25 | 44.0 0.25
1.7 x4 |73700|212000

Remarks 1. The actual screw shaft length may be slightly longer than nominal length Ls due to manufacturing tolerance.
2. Nut assembly with arbor and screw shaft are separated at time of delivery.
3. The value obtained by dividing the standard screw length by 100 mm will be entered at the end of the reference
number where marked with "* *."

186




Rolled Ball Screws R-Series

Ve
E| o= o
S| — _ _ . _ |
g S H Y
A\
Ls
Unit: mm
Ball nut dimensions Arbor Screw shaft
Outside Flange Length Bolt hole | Oil hole |9si%e| Bore |  Standard length

Screw shaft No.

D

90

H E | L

M| W X Q dy d,

3

3.5

135| 92 | 20 (21.5/107

112

14 M6 x 1

44.0| 40.8

3.5

2000

Ls

RS1520A**

RS2020A**

RS3232A%*

3000

4000 | RSbH050A**

Remarks 4. Items in stock are not applied surface treatment. NSK provides treatment such as phosphate coating on request.
5. The entire length of the nut becomes longer by "2 x M " for those with a seal. The seal is "Brush-seal."

187



NSK

Oil hole @ Arbor a0 30°
4 f
T 1 o
‘;: g g - - J_.I =
E | B
M Ln M
Effective turns B H | d .t
Root dig ot balis asicload rating | pial
Ball nut No. Turns N play
X Dynamic| Static | njax.

RNFCL 2040A2
RNFCL 2040A2S

Circuits

RNFCL 2040A3
RNFCL 2040A3S

RNFCL 2040A6
RNFCL 2040A6S

RNFCL 3264A3
RNFCL 3264A3S

17100| 40500

RNFCL 3264A6
RNFCL 3264A6S

31000( 81000

4- X drill thru.

Remarks 1. The actual screw shaft length may be slightly longer than nominal length Ls due to manufacturing tolerance.
2. Nut assembly with arbor and screw shaft are separated at time of delivery.
3. The value obtained by dividing the standard screw length by 100 mm will be entered at the end of the reference

number where marked with "* *"

188




Rolled Ball Screws R-Series

Gdm
@d,
/gb
)

|

|

|

|
oéd

Ls
Unit: mm
Ball nut dimensions Arbor Screw shaft
Outside Flange Length Bolt hole | Qil hole | 0uside | Bore Standard length Screw shaft
D Q d | d L. No.

17.3 .9 | 500 1000 1500 2000 | RS2040A**

1000 2000 3000 4000 | RS3264A**

Remarks 4. Items in stock are not applied surface treatment. NSK provides treatment such as phosphate coating on request.
5. The entire length of the nut becomes longer by "2 x M " for those with a seal. The seal is "Brush-seal."

189



190



Compact FA Series - E3230

Main features:

Next-generation compact ball screws offer quiet, high speed

operation performance.
A standard stock series assures immediate delivery.

191



Compact & Silent

Features:

6 dB less noise

The noise level of ball screws has been reduced by 6 dB,
about half of what is sensed by the ear. Ball screws subse-
quently produce a quieter and gentler sound.

10%-30% more compact ball nut

The outside diameter of the ball nut is as much as 30%
smaller than those of NSK conventional products. This con-
tributes to more compact design of all sorts of equipment
and devices such as thinner XY tables.

High-speed operation of up to 5 000 min-1
Thenewballscrewsoffer1.6timesfasterrotational speedthan
conventionalballscrews. Theyhandlespeedsupto5000min-1.
This capability dramatically expands the range of service
conditions.

Note: Please refer to the dimension table for details of per-
missible rotational speed.

Grease fitting provided as standard equipment

The new ball screws are standardly equipped with a grease
fitting (M5 x 0.8). Lubrication ports are provided in 2 places
to facilitate maintenance. The ball screws can be easily con-
nected to an integrated lubrication system.

As much as

more compact

New type of contact seal

A new model high-performance contact seal minimizes grease
dispersion and helps to maintain a clean work environment.

Low-profile design

The low-profile support units especially compatible with the
compact FA series are available for uniquely space-saving

design.

Existing support unit —

Example of
reference number:

PSS 15

Compact FA Series
Accuracy grade: G5

Screw shaft diameter (mm)

New low profile support

20 N1D 0561

Ball screw shaft length Ls (mm)

NSK control No.

Lead (mm)

30%

2| s S e o o Noise data
diameter 50 | 100 | 150 | 200 | 300 | 400 | 500 | 600 | 700 | 800 (1 000 (1 200|1 600| 2 000 support unit support unit 80 e
5 lele o eolo s
10 T ° ol e ® WBK08-01B | WBK08S-01B . AR ,.?
12 4: t e e j Shaft diameter 15 =~ § & i
12 WBKO08-01B | WBK08S-01B 7 bedat ) v 1
20 ° elelele L LT < N =
30 [ ] [ BN BN NN ] 2 et .
5 e e [ N BN NN BN ) 5 6 T A O i -
8 = L d
10 ([ ] [ BN BN NN BN NN W BN ] WBK12-01B 2 . R :
1 20 ° o o 0o 0o 0oleo/ele WBK10-018| WBK125-018 © M / ;
30 PS e ele/eoeeele 4V EaN
5 [ AN NN BN BN NN NN BN ] “ ! PNt |
10 ® ® e o6 o o 0o o o Y ) . L) (C;onvenﬂ(o:::A Series
20 [ N JN BN BN BN BN ) [ N ) === @ Compact eries
20 30 e el e e0ole 0ololele WBK15-01B | WBK15S-01B Wl - — l—,—,—,—,—,—,—‘sn B B
: sleleioialelalels e
5 [ B BN NN BN ] [ AN BN ] (Microphone was positioned at a distance of 400 mm
;g Ll%%%%{ - : - for all noise measurements.)
25 25 o e el ole ole| @ VWBKOON WBK2OS-O1
30 [ M BN S AN N NN N )
50 { NN BN BN BN BN BN NN )
[Other support units are also available. See last page of catalog for details.

192




NSK Ball Screws for standard stock

Screw shaft: 210 and 12

Screw shaft 210

Lead 5, 10

2-high performance seal
(Synthetic plastc) -
©
)
Y g
3 _ M8A.0 o ?003'5
I I g
+ iE| f s
| M i /
i “1; ¢ =
$ = a2 TR B 5
08 lpatemtSy)p R @ 4 —
¢ 1
B 8 E
E
Grease nipple 13, 13
0005 x< {01 hole, M5x0.8 tap) 55
L Plug
L (quenching renge) 51® 27 10 (Oifhole, M5<0.8 tap)
9 Ly 37 Cross-section X-X
Ly
Ball screw specification Recommended support unit
Preload type Oversize ball preload (P-preload) WBK08-01B (square, fixed side)
Ball diameter/screw shaft root diameter 2.000/8.2 WBKO08S-01B (Square, simple side)
Accuracy grade/axial play C5/0 WBKO08-118 (round, fixed side)
Factory pre-packed grease NSK grease PS2
SéCl:W Basic load ratings (N) Stroke Nut Screw shaft dimensions Lead accurac) b Joad t Permissible rotational
Reference number diameter | L-€2d Dynamic Static i Max. | length Targetvalue | Error | Variation | Shaft runout, ¢ | ~Yem'c Preloactoraue speed (min”) 2
d Y @ @ || L Ly L Ly T & v, (3 Fixed-Simple
PSS1005N1D0171 50 83 112 125 171 0.020 0.018 0.030 0 = 3
PSS1005N1D0221 100 133 162 175 221 0.020 0.018 0.045 07 - 33
1 1 1 5 2930 4790 00 233 29 262 5 1 0.023 0.018 0.060. 06 - 483 5000
PSS1005N1D0421 300 333 362 375 421 0.025 0.020 0.070 06 - 43
1 1 10 400 433 462 475 521 0 0.027 0.020 0.085. 04 - 49
PSS1010N1D0221 100 130 162 175 221 0.020 0.018 0.045 07 - 33
PSS1010N1D0321 10 1970 3010 00 230 32 262 75 1 0.023 0.018 0.060. 06 - 43 5000
PSS1010N1D0421 300 330 362 375 421 0.025 0.020 0.070 06 - 43
0.020 0.085. 04 - 49

*1. Indicates ball screw preload control value. About 2.0 N-cm of torque is added due to high performance seal. *2. Contact NSK if permissible rotational speed is to be exceeded. *3. Service temperature range is -20°C to 80°C

Screw shaft @12
Lead 5, 10, 20, 30

8 4-94.5dkill thru
7 c 6l 19 a0 78 cbore, 4.5 depth
2-high performance seal X=
(Synthetic plastic]
é’\. M8x1.0 o
9 1 g2
€ 55
¢
£l T
B 3 T
! I L
0.8% sy =N
. 2 @
B 88t eI &) 6|4 E |9 nd
Syl . ‘ 0 [| o0
rease nipple
O hole, M5x0.8 tap) [—2:5/ 135
27
L1 (quenching range) Ll 8 27 10 o ho\e%xu 5@
9 L; 37
L Cross-section X-X
s HOSSSEEONEE
Ball screw specification Recommended support unit
Preload type Oversize ball preload (P-preload) WBK08-018 (square, fixed side)
Ball diameter/screw shaft oot diameter 2.000/10.2 WBK08S-01B (square, simple side)
Accuracy grade/axial play C5/0 WBK08-11B (round, fixed side)
Factory pre-packed grease NSK grease PS2
Unit: mm
Schrefv‘v Basic load ratings (N) Stroke Nut Sorew sharddh . Lead accuracy Permissible rotational
Reference number diamter| Lead Dynamic Static i Max. | length Targetvalue | Error | Variation | Shaft runout, C | DYnamic pve\ca.c: ol speed (min”) *2
d £ Ca @ N L L | L | L |L T & vy Wem) Fixed-Simple
PSS1205N1D0171 50 | 80 110 | 125 | 171 0020 | 0.018 0.030 07 - 33
PSS1205N1D0221 100 130 160 | 175 | 221 0.020 0.018 0.045 07 - 33
PSS1205N1D0321 200 230 260 | 275 | 321 0.023 0.018 0.060 06 - 43
PSS1205N1D0421 9 200 I 300 330 =0 360 | 375 | 421 g 0.025 0.020 0.070 06 - 4.3 21000
PSS1205N1D0521 400 430 460 | 475 | 521 0.027 0.020 0.085 06 - 43
PSS1205N1D0621 500 530 560 | 575 | 621 0.030 0.023 0.085 04 - 4.9
PSS1210N1D0221 100 117 160 | 175 | 221 0.020 0.018 0.045 07 - 33
PSS1210N1D0321 200 217 260 | 275 | 321 0.023 0.018 0.060 06 - 4.3
PSS1210N1D0421 10 3200 5860 300 317 43 360 | 375 | 421 7 0.025 0.020 0.070 06 - 43 5000
0.027 0.020 0.085 06 - 4.3
PSS1210N1D0521 400 47 460 | 475 | 521 0 0.030 0.023 0.085 04 - 4.9
PSS1210N1D0621 12 500 517 560 | 575 | 621 0.023 0.018 0.045 14 - 4.5
PSS1220N1D0271 100 158 208 | 225 | 271 0.023 0.018 0.060 09 - 4.9 5000
PSS1220N1D0371 200 258 308 | 325 | 371 0.027 0.020 0.070 09 - 4.9
PSS1220N1D0471 20 2150 3610 300 358 50 408 | 425 | 471 @ 0.030 0.023 0.085 06 - 59
0.030 0.023 0.110 06 - 59 4200
PSS1220N1D0571 400 458 508 | 525 | 571 0.023 0.018 0.045 14 - 45
PSS1220N1D0671 500 558 608 | 625 | 671 0.023 0.018 0.060 09 - 4.9 5000
PSS1230N1D0271 100 133 203 | 225 | 271 0.027 0.020 0.070 09 - 4.9
PSS1230N1D0371 200 233 303 | 325 | 371 0.030 0.023 0.085 06 - 59
PSS1230N1D0471 30 2150 3610 300 333 70 403 | 425 | 471 | 14 0.030 0.023 0.110 06 - 59 4 300

*1. Indicates ball screw preload control value. About 2.0 N-cm of torque is added due to high performance seal. “2. Contact NSK if permissible rotational speed is to be exceeded. *3. Service temperature range is -20°C to 80°C

193



NSK Ball Screws for standard stock Screw shaft: 915

Screw shaft @15

L
Lead 5, 10
ead 5, e
3 115 Bas
H it pertormance sea M 1
I = Syt pesic = R
G 5
. oo o
B ) o0
8 i - £ i
off il oll o | |
ratonivaey \ 8] Vi o T B b \< H
P HEET| @ 5] N
Iz e o s 10
P G0 o
wiotio/ B - fesgeroon ™ T
A % Sl :
10 B Pl
oib "
O V05
L L % 15
L s
L
Ball screw specification Recommended support unit
Preload type Oversize ball preload (P-preload) WBK12-018 (squre, fixed side)
Ball diameter/screw shaft root diameter 2.7781/12.6 WBK12S-01B (square, simple side)
Accuracy grade/axial play 50 WBK12-11 (round, fixed side)
Factory pre-packed grease NSK grease LR3 *4WBK10-018 (square, fixed side)
WBK10-11 (round, fixed side)
Unit: mm
Screw Basic load ratings (N) Stroke o0 E— Lead accuracy i Permissible rotational | Left shaft
Reference number | disnaner| Lead [“Dynamic | Static Nommal] Max | fength Targetvalue| Error | Variation | SNaft runout 4t speed (min) eTlEn
d £ Ca Coa  |"™™| Lt L Ly L L | L T e v ° fom) Fixed-Simple | Fixed-Fixed | driven side)
PSS1506N1D0211 50 | 109 189 | 154 | o1 0020 | 0018 | 0035 |02 - 69
PSS1505N1D0261 100 | 159 180 | 204 | o6 0020 | 0018 | 0035 |02 - 69
PSS1505N1D0361 200 | 259 289 | 304 | 361 0023 | 0018 | 0045 |02 = 69 o0
PSS1505N1D0461 5 5460 | 10200 | 300 | 350 | 30 389 | 404 | 461 15 0025 | 0020 | 0050 | 04 - 98 - Shape II
PSS1505N1D0561 400 | 450 489 | 504 | 561 0027 | 0020 | 0060 | 04 - 98
PSS1505N1D0661 500 | 659 589 | 604 | 661 0030 | 0023 | 0075 | 04 - 98
PSSTS0SNTDO761| 600 | 659 689 | 704 | 761 o |0oss [ 0025 [ o075 |04 - 118 | @600
PSS1510N1D0261 100|146 189 | 204 | 261 0020 | 0018 | 0035 | 06 - 7.4
PSS1510N1D0361 200 | 246 289 | 304 | 361 0023 | 0018 | 0045 | 06 - 7.4
PSS1510N1D0461 300 | 346 389 | 404 | 461 0025 | 0020 | 0050 | 04 - 98| 5000 S
PSS1510N1D0561 400 | 446 489 | 504 | 561 0027 | 0020 | 0060 | 0.4 - 98 - 2
PSS1510N1D0661 10 5460 | 10200 | 500 | 546 | 43 589 | 604 | 661 | 15 0080 | 0028 | 0075 | 0.4 - 98
PSS1510N1D0761 600 | 646 689 | 704 | 761 0025 | 0075 | 04 - 11.8 | 3600
PSS1510N1D0879 700 | 746 780 | 804 | 879 025 | 0095 |04 - 11.8 | 2700 | 3400
PSS1510N1D0979 800 | 846 889 | 004 | o719 027 | 0095 | 04 — 118 | 2200 | 3400 | Shapel
PSS1510N1D1179 1000 [ 1046 1089 | 1104 | 1179 0030 | 0120 | 04 - 118 | 1400 | 2800

“1. Indicates ball screw preload control value. About 2.0 N-cm of torque is added due to high performance seal. *2. Contact NSK if permissible rotational speed is to be exceeded. *3. Service temperature range is -20°C to 80'C. *4. WBK 10-018 and WBK 10-11 are for shape .

{7[0.0171A]

Screw shaft 215 R
Lead 20, 30

high performance seal x| t2d

595 Ctoe, 55 dep

M12x1.0

® é B A

P
U;‘J

|

o

|

L o o T
Orholer |-—16.5/ | 165
NS08 12p) 3
L Pl
OThoR, W5+08
L1 (quenching range) L 30 15 G section XX
L s
L
Ball screw specification Recommended support unit
Preload type Oversize ball preload (P-preload) WBK12-01B (square, fixed side)
Ball diameter/screw shaft root diameter 3.175/12.2 WBK128-018 (square, simple side)
Accuracy grade/axial play C5/0 WBK12-11 (round, fixed side)
Factory pre-packed grease NSK grease LR3 *4WBK10-01B (square, fixed side)
WBK10-11 (round, fixed side)
Unit: mm
Screw Basic load ratings (N) Stroke Nut Lead accuracy issible rotational || Leftshaft
Reference number | giamater| 29 [ Dynamic Static Max | length Serew shaft Targetvalue| Error | Variation | SMaft funout JEs speed (min") 2 end (opposite.
d £ Ca Cop  [Nominal] 1 L Ly Ly L | L T & vy © (i) Fixed-Simple | Fixed-Fixed | Crven side)
PSS1520N1D0261 100 | 135 186 | 204 | 261 0020 | 0018 | 0035 | 08 - 8.
PSS1520N1D0361 200 | 235 286 | 304 | 361 0023 | 0018 | 0045 | 08 - 8
PSS1520N1D0461 300 | 335 386 | 404 | 461 0.025 | 0020 | 0050 | 08 - 10 5000 _ Shapel
PSS1520N1D0561 400 | 435 486 | 504 | 561 0027 | 0020 | 0060 | 08 - 10
PSS1520N1D0661 20 5070 8730 500 | 635 | 51 586 | 604 | 661 | 18 0030 | 0023 | 0075 | 08 - 10
PSS1520N1D0761 600 | 635 686 | 704 | 761 0035 | 0025 | 0075 | 08 - 13 3700
PSS1520N1D0879 700 | 735 786 | 804 | 879 0035 | 0025 | 0095 | 08 — 13 2900 4200
PSS1520N1D0979 800 | 835 886 | 904 | o979 0040 | 0027 | 0095 | 08 - 138 | 2200 3300 | Shapel
PSS1620N1D1179 | o 1000 | 1035 1086 | 1104 | 1179 ® 0046 | 0080 | 0120 | 08 - 138 | 1500 2200
PSS1530N1D0311 100 | 159 230 | 254 | 811 0023 | 0018 | 0035 | 12 - 93
PSS1530N1D0411 200 | 259 330 | 354 | 411 0026 | 0020 | 0050 [ 08 - 108 0o
0027 | 0020 | 0060 | 08 - 108 _ Shapel
PSS1530N1D0511 300 | 359 430 | 454 | 511 0030 | 0023 | 0060 | 08 - 108
PSS1530N1D0611 400 | 459 530 | 554 | 611 0030 | 0023 | 0075 | 08 - 138 | 4500
PSS1530N1DO0711 30 5070 8730 500 | 559 | 71 630 | 654 | 711 | 24 0035 | 0025 | 0095 | 08 - 138 | 3300
PSS1530N1D0811 600 | 659 730 | 754 | 811 0040 | 0027 | 0095 | 08 - 138 | 2600 3800
PSS1530N1D0929 700 | 759 830 | 854 | 929 0040 | 0027 | 0120 | 08 - 138 | 2000 3000 | Shapel
PSS1530N1D1029 800 | 859 930 | 954 | 1029 0046 | 0080 | 0120 | 08 - 138 | 1400 2000

*1. Indicates ball screw preload control value. About 2.0 N-cm of torque is added due to high performance seal. *2. Gontact NSK if permissible rotational speed is to be exceeded. 3. Service temperature range is -20°C to 80'C. *4. WBK 10-01B and WBK 10-11 are for shape I

194



NSK Ball Screws for standard stock

Screw shaft: 20

Screw shaft 220
Lead 5, 10, 20, 30, 40, 60

PR = B
13 w01
= 8
10.15
= o]
¥ 1.15
8 ﬁ‘%:a 4-¢6.6 drill thru
r= 2-high performance seal 711 Cbore, 65 depth
! (Synthetic plastic =
L M15x1.0 5o
oH o5c )
] i ~ ; o
— i M §| /
&g, " ol =
7| 1 8 st <2
TS 8 i i S| 5 5| ( i
MISA0 gz | e il ! N o )
ks iRy e
r: = H= a @ 15
! TS 107 E
L: X -~  Grease nipple
(Ol hole,
15 | |13 | M5x0.8 tap)
115" L7 L Plug
10.15" {Oirhole, M5x0.8 tap) )
(0008 L1 (quenching range) L 40 20 Cross-seotion X-X
40 Ly 60
L:
Ball screw specification Recommended support unit
Preload type Oversize ball preload (P-preload) WBK15-01B (square, fixed side)
Ball diameter/screw shaft root diameter 8.175/17.2 WBK158-01B (square, simple side)
Accuracy grade/axial play C5/0 WBK15-11 (round, fixed side)
Factory pre-packed grease NSK grease LR3
Unit: mm
S Basic load ratings (N) Stroke Nut Lead accuracy Permissible rotational |  Left shaft
Reference number | disnaer| €20 [Dynamic | Static i Max. | length eeelat, Target value| Error | Variation | SNaft runout | Dynamic D'E‘“a"’“""‘““ speed (min”) 2 end (opposite
Ca G MR L Ly L Lo | L T & vy © (om) [ Fixed-Simple | Fixed-Fixed | %™Ve" i)
PSS2005N1D0323 150 197 228 250 323 0.023 0.018 0.045 06 - 7.4
PSS2005N1D0373 200 | 247 278 | 300 | 373 0.023 | 0018 0.045 06 - 74
PSS2005N1D0473 300 | 847 378 | 400 | 473 0.025 | 0.020 0.050 06 - 74 5@
PSS2005N1D0573 5 8790 18500 400 [ aa7 | o 478 | 500 [ 678 | ,, 0.027 | 0.020 0.060 04 - 98 > Shape Il
PSS2005N1D0673. 500 | 547 578 | 600 | 673 0.023 0.075 04 - 98
PSS2005N1D0773 600 647 678 700 773 0.025 0.075 04 - 98
PSS2005N1D0873 700 | 747 778 | 800 | 873 0.025 0.095 04 - 98 | 4000
PSS2005N1D1000 800 847 878 900 | 1000 0.027 0.095 04 - 118 3200 4700 Shape [
PSS2010N1D0387 200 | 247 292 | 31a| 387 0.018 0.045 12 - 93
PSS2010N1D0487 300 347 392 414 487 0.020 0.050 12 - 93
PSS2010N1D0587 400 | 447 492 | 514 | 687 0.020 0.060 08 - 108 5000 Shape I
PS52010N1D0687 500 | 547 592 | 614 | 687 0.023 0.075 08 - 108 -
PSS2010N1D0787 10 8790 18 500 600 | 647 | 45 692 | 71a| 787 | 22 0.025 0.075 08 - 108
PS52010N1D0887 700 | 747 792 | 814 | s87 0.025 0.095 08 - 108 4000
PSS2010N1D1014 800 | 847 892 [ o14 | 1014 0.027 0.120 08 - 138 3100 4600
PSS2010N1D1214 1000 | 1047 1092 [ 1114 [ 1214 0.030 0.120 08 - 138 2100 3100 Shape I
PSS2010N1D1414 1200 | 1247 1292 [ 1314 | 1414 0.035 0.160 08 - 138 1500 2200
PSS2020N1D0508 300 | 359 2413 | 435 | 608 0.020 0.060 14 - 118
PSS2020N1D0608 400 459 513 535 608 0.023 0.060 14 - 118 5000
PSS2020N1D0708 500 | 559 613 | 635 | 708 0.023 0.075 14 - 118 - Shape II
PS52020N1D0808. 600 | 659 713 | 735 | 808 0.025 0.095 14 - 118
PSS2020N1D0908 20 5900 11700 700 | 759 | 54 813 | 835 | 908 | 22 0.027 0.095 08 - 138 3700
PSS2020N1D1035 800 | 850 913 | 035 | 1035 0.027 0.120 08 - 138 3000 4500
PSS2020N1D1235 1000 | 1059 1113 | 1135 | 1235 0.030 0.120 08 - 138 2000 3000 Shape
PSS2020N1D1435 1200 | 1260 1313 | 1335 | 1435 0.035 0.160 08 - 138 1400 2100
PSS2020N1D1835 20 1600 | 1659 1713 | 1735 | 1835 0 0.040 0.200 08 - 138 800 1200
PSS2030N1D0408 200 | 234 308 | 335 | 408 0.018 0.050 16 - 98
PSS2030N1D0508 300 334 408 435 508 0.020 0.060 14 - 118
PSS2030N1D0608 400 | 434 508 | 535 | 608 0.023 0.060 14 - 118 5000 _ Shape I
PSS2030N1D0708. 500 | 584 608 | 635 | 708 0.023 0.075 14 - 118
PSS2030N1D0808 30 5900 11700 600 | 634 | 74 708 | 735 | 808 | 27 0.025 0.095 14 - 118
PS52030N1D0908. 700 | 734 808 | 835 | 908 0.027 0.095 08 - 138 3900
PSS2030N1D1035 800 834 908 936 | 1035 0.027 0.120 08 - 138 3100 4 600
PSS2030N1D1235 1000 | 1034 1108 | 1135 | 1235 0.030 0.120 08 - 138 2100 3000 Shape I
PSS2030N1D1435 1200 | 1234 1308 | 1335 | 1435 0.035 0.160 08 - 138 1500 2200
PSS2040N1D0658 400 | 461 553 | 585 | 658 0.023 0.075 22 - 128
PSS2040N1D0758 500 561 653 685 758 0.0256 0.075 22 - 128 5000 _ Shape Il
PSS2040N1D0858 600 | 661 753 | 785 | 858 0.025 0.095 22 - 128
PSS2040N1D0958. 700 | 761 853 | 885 | 058 0.027 0.095 18 - 148 3500
PSS2040N1D1085 40 5900 11700 800 | 861 92 953 | 085 | 1085 | 32 0.027 0.120 1.8 - 148 2800 4200
PSS2040N1D1285 1000 | 1061 1153 | 1185 | 1285 0.160 18 - 148 1900 2800
PSS2040N1D1485 1200 | 1261 1363 | 1385 | 1485 0.160 18 - 14.8 1400 2000 Shape I
PSS2040N1D1885 1600 | 1661 1753 | 1785 | 1885 0.200 18 - 148 800 1200
PSS2040N1D2285 2000 | 2061 2153 | 2186 | 2285 0.240 18 - 14.8 500 800
PSS2060N1D0708 400 | 464 593 | 635 | 708 0.075 27 - 138 5000
PSS2060N1D0808 500 564 693 735 808 0.095 27 - 138 _ Shape Il
PSS2060N1D0908 600 | 664 793 | 835 | 908 0.095 27 - 138 | 4200
PSS2060N1D1008. 700 | 764 893 | 035 | 1008 0.120 18 - 148 3300
PSS2060N1D1135 60 5900 11700 800 | 864 | 129 993 [ 1035 | 1135 | 42 0.120 1.8 - 148 2600 3900
PSS2060N1D1335 1000 | 1064 1193 | 1235 | 1335 0.160 18 - 148 1800 2700
PSS2060N1D1535 1200 | 1264 1393 | 1435 | 1535 0.160 18 - 14.8 1300 1900 Shape [
PSS2060N1D1935 1600 | 1664 1793 | 1836 | 1935 0.200 18 - 148 800 1100
PSS2060N1D2335 2000 | 2064 2193 | 2235 | 2335 0.240 18 - 14.8 500 700

*1. Indicates ball screw preload control value. About 3.0 N-cm of torque is added due to high performance seal. 2. Contact NSK if permissible rotational speed is to be exceeded. *3. Service temperature range is -20'C to 80°C.

195



NSK Ball Screws for standard stock

Screw shaft: 825

Screw shaft @25
Lead 5, 10, 20, 25, 30, 50

Ls
19 g1 Bas
o 15.35 22
N 1.35%" 2-high performance seal
{Synthetic plastic) )
X = “ 6-#6.6crill thru
M20x1.0 .
Zo
7 i 2
i j _ 5|
i i o ol Eo o
i i € S &
i
1 il
i :{ Grease nipple
= o 1210 104 il hole,
- e @4 a‘ El M5x0.8 tap)
Plu
g1 [L[0.01T]AF |@)| (Ol hole, M5x0.8 tap)
weoco)/ sl | )
HedE 15.35 K2 x4
L Cross-section X-X
L (quenching range) Ls 53 27
53 L 80
L
Ball screw specification Recommended support unit
Preload type Oversize ball preload (P-preload) WBK20-01 (square, fixed side)
Ball diameter/screw shaft root diameter 3.175/22.2 WBK208-01 (square, simple side)
Accuracy grade/axial play csi0 WBK20-11 (round, fixed side)
Factory pre-packed grease NSK grease LR3
Unit: mm
Screw Basic load ratings (N) Stroke . Lead accuracy i rotational
Reference number |disnater | Lead TDynamic | Static | B Cemei Targetvalue| Error | Variation | SN2t runout dtoae] " speed (min) 2 en?{;;gi‘.‘e
Ca Coa |Nomnal| Ly | L L L L | L T & v, ° e Fixed-Simple | Fixed-Fixed | diven side)
PSS2505N1D0349 150 | 191 223 | 250 | 349 0023 | 0018 | 0085 | 12 - 98
PSS2505N1D0399 200 | 241 273 | 300 | 899 0023 | 0018 | 0035 | 12 - 08
PSS2505N1D0499 300 | _aat 373 | 400 | 499 0.025 | 0020 | 0040 | 12 - o8
PSS2505N1D0599 200 | a4t 473 | 500 | 599 0007 | 0020 | 0045 | 12 - 93| 5000 - Shape 1T
PSS2505N1D0699 5 | 9760 | 28600 eoo | sar | %2 [ 73| 600 | 600 | 27 0.030 | 0023 | 0055 | 08 - 108
PSS2505N1D0B9Y 700 | 741 773 | 800 | 899 0.035 | 0,025 | 0065 | 08 - 108
PSS2505N1D0999) 800 | 8at 873 | 900 | 999 0.040 | 0,027 | 0065 | 08 - 108 | 4100
PSS2505N1D1233 1000 | 1041 1078 | 1100 | 1283 0.046 | 0030 | 0080 | 08 - 138 | 2700 | 4000 | Shapel
PSS2510N1D0549 300 | 67 423 | 450 | 549 0027 | 0020 | 0045 | 81 - 118
PSS2510N1D0B49 400 |_a67 523 | 550 | 649 0030 | 0023 | 0055 | 22 - 128
PSS2510N1D0749 500 | 567 623 | 650 | 749 0000 | 0023 | 0055 | 22 - 128 | 5000 ~ —
PSS2510N1D0849 0 | 12800 | spsoo |80 | 67| . [7es| vs0| ea] . 0.035 | 0,025 | 0065 | 22 - 128
PSS2510N1D0949 700 | 767 823 | 850 | 049 0040 | 0027 | 0065 | 22 - 128
PSS2510N1D1049 800 | 867 923 | 950 | 1049 0040 | 0027 | 0080 | 22 - 128 | 3600
PSS2510N1D1283 7000 | 1067 1123 | 1150 | 1283 0046 | 0,000 | 0100 | 1.6 - a8 | 2500 | 70 | o
PSS2510N1D1883 1600 | 1667 1723 | 1750 | 1883 0.065 | 0.040 | 0430 | 1.8 - 148 | 1000 | 1600
PSS2520N1D0729 500 | 650 604 | 630 | 720 0080 | 0023 | 0086 | 22 — 128 ] o
PSS2520N1D0B29 600 | 650 704 | 730 | 829 0035 | 0025 | 0065 | 22 - 128 B —
PSS2520N1D0929 700 | 750 804 | 830 | 020 0040 | 0027 | 0065 | 22 - 128 | 4800
PSS2520N1D1029 800 | 850 904 | 930 | 1029 0.040 | 0027 | 0080 | 22 - 128 | 3800
PSS2520N1D1263 20 | 8560 | 14800 IHon0 050 | 4 [T104 [1130 1263 | ° 0046 | 0080 | 0400 | 18 - 148 | 2600 | 3800
PSS2520N1D1463 1200 | 1250 1304 | 1330 | 1463 0054 | 0005 | 0100 | 18 - a8 | 1800 | 2700 | oo
PSS2520N1D1863 1600 | 1650 1704 | 1730 | 1863 0.065 | 0.040 | 0130 | 18 - 148 | 1100 | 1600
PSS2520N102268 | 2000 | 2050 2104 | 2130 | 2263 o |007[ 00w [ 00 [ 18 - 148 700 | 1000
PSS2525N1D0779 500 | 687 650 | 680 | 779 0085 | 0025 | 0086 | 27 — 188 o o
PSS2525N1D0B79 600 | 687 750 | 780 | 879 0.035 | 0025 | 0065 | 27 - 138 —
PSS2525N1D0979 700 | 787 850 | 880 | o079 0040 | 0027 | 0065 | 27 - 138 | 4300 -
PSS2525N1D1079 800 | 887 950 | 980 | 1079 0040 | 0.027 | 0080 | 27 - 138 | 3400
PSS2625N1D1313 2 6960 | 14600 000 [ 1087 | % [ats0 [1180 | 1813 | P 0.046 | 0,060 | 000 | 1.8 - 148 | 2800 | 3500
PSS2525N1D1513 1200 | 1287 1350 | 1880 | 1513 0054 | 0005 | 0100 | 16 - a8 | 1700 | 2600 | .
PSS2525N1D1913 1600 | 1687 1750 | 1780 | 1913 0.065 | 0040 | 0130 | 18 - 148 | 1000 | 1500
PSS2525N1D2313 2000 | 2087 2150 | 2180 | 2818 0077 | 0046 | 0470 | 18 - 148 700 | 1000
PSS2530N1D0779) 500 | 576 650 | 680 | 779 0085 | 0025 | 0065 | 27 - 188 | o
PSS2530N1D0879) 600 | 676 750 | 780 | 879 0.035 | 0,025 | 0065 | 27 - 18 ~ —
PSS2530N1D0979 700 | 776 850 | 880 | o079 0040 | 0027 | 0065 | 27 - 138 | 4300
PSS2530N1D1079 800 | 876 950 | 980 | 1079 0040 | 0027 | 0080 | 27 - 138 | 3400
PSS2630NTD1313 0 6960 | 14600 000 [7or6 | * [A150 [ 1180 | 1813 | 0046 | 0,080 | 0400 | 18 - 148 | 2800 | 3600
PSS2530N1D1513 1200 [ 1276 1350 | 1380 [ 1513 0,054 | 0035 | 0100 [ 16 — 148 | 1700 | 2600 | oo,
PSS2530N1D1913 1600 | 1676 1750 | 1780 | 1913 0.065 | 0040 | 0130 | 18 - 148 | 1000 | 1500
PSS2530N1D2313 2000 | 2076 2150 | 2180 | 2818 0077 | 0046 | 0470 | 18 - 148 700 | 1000
PSS2550N1D0B29 500 | 676 690 | 730 | 820 0085 | 0025 | 0065 | 54 - 176 | 5000
PSS2550N1D0929 600 | 676 790 | 830 | 920 0.006 | 0,025 | 0065 | 54 - 17.6 | 4800 —
PSS2550N1D1029 700 | 776 890 | 930 | 1020 0040 | 0027 | 0080 | 654 - 7.6 | 3800 =
PSS2550N1D1129 800 | 876 990 | 1030 | 1129 0040 | 0027 | 0080 | 54 - 7.6 | 3100
PSS2550N1D1363 0 | 6560 ) 14600 1000|7076 | '™ [0 [1230 | 1363 | 0046 | 0,080 | 0100 | 41 - 196 | 2200 | 3400
PSS2550N1D1563 1200 [ 1276 1390 | 1430 [ 1563 0,054 | 0035 | 0100 | 41 - 196 | 1600 | 2500 | o,
PSS2550N1D1963 1600 | 1676 1790 | 1830 | 1963 0.065 | 0,040 | 0430 | 41 - 196 900 | 15600
PSS2550N1D2363 2000 | 2076 2190 | 2230 | 2363 0077 | 0046 | 0470 | 41 - 196 600 | 1000

*1. Indicates ball screw preload control value. About 3.0 N-cm of torque is added due to high performance seal. *2. Contact NSK if permissible rotational speed is to be exceeded. *3. Service temperature range is -20°C to 80°C.

196




NSK Ball Screws for standard stock

< Design

(1) If a ball screw of which left shaft end (opposite driven side) is the shape I, and is supported with the “fixed-fixed”
supporting method, you should be aware that the operating life of support bearings may drop due to thermal
expansion of the screw shaft, depending on usage conditions. In this case, you should consider a structure that
can absorb thermal expansion of the screw shaft if necessary. Please consult with NSK for a detailed examination.

(2) If using an NSK linear guide, the maximum speed of a linear guide of standard specifications under ordinary
conditions is limited to 100 m/min. A linear guide with high-speed specifications is available if higher operating
speed is required. Contact NSK for further information.

(8) For general precautions concerning ball screws, please see NSK Catalog No. E3161 “Precision Machine Components.”

<> Usage and handling
Ball screws are precision products and should be treated as follows:

[Lubrication]

(1) Compact FA Series ball screws are packed and coated with lubrication grease at the factory,
and require no further lubrication under ordinary circumstances. If the surface of the grease
becomes contaminated with dirt and metal powder under operation, clean it with white
kerosene and replenish with new grease of the same kind through the oil hole (grease nipple)
on the ball nut. Avoid mixing different types of grease.

(2) Lubricant should be checked after the first 2 to 3 months of operation. If excessively dirty,
we recommend you wipe away the old grease and replenish with a generous quantity of
grease. After that, grease should be checked and replenished once a year under ordinary
circumstances, but the period may vary depending upon the service environment.

[Handling]

(1)Never disassemble the ball screw, otherwise dirt may contaminate the inside of the unit and
affect precision or result in equipment failure.

(2) Compact FA Series ball screws incorporate a new ball re-circulation system. Consequently,
only NSK authorized plants should conduct disassembly and reassembly. If the nut
accidentally comes off the screw shaft or is dropped, NSK will check precision, problems or
perform repairs at your expense. -

(3) When the ball screw is erected upright, the screw shaft or nut could fall by force of its own Do not disassemble
weight and result in injury. If dropped, the ball grooves could be dented or re-circulation parts
damaged, resulting in loss of function. This would require the ball screw to be inspected by
NSK. If so, be sure to send the ball screw to NSK and we will check it for a fee.

[Usage]

(1) Ball screws should be used in a clean environment. The ball screws should be provided with Beware of dropping
a dust cover to prevent the entry of debris such as dust and metal powder. If foreign matter is
allowed to contaminate the ball screw, this could not only cause the ball screw to lose some of
its function, but also result in clogging and damaging the re-circulation system parts, or cause
the table to fall or a similar serious accident.

(2) Compact FA Series ball screws are designed to be used in a service temperature environment
of 80°C or lower. Do not allow the service temperature limit to be exceeded. In some cases,
using ball screws in temperatures above 80°C might lead to damage of re-circulation system
parts or seal parts. Contact NSK if 80°C must be exceeded.

Check lubrication

r\m

Max

<>Compact FA Series options

Consult with NSK for information about optional specification not given in the catalog Caution max. temperature
such as shaft end machining, reverse direction ball nut, alternative grease, surface

treatment,

and alternative preload.

l=ip b P

19

~




NSK

NSK has developed a series of low-profile support unit to be used with the ball screws
of compact FA series. A combination of the ball screw and the support unit offers a
compact design for downsizing of many kinds of machinery.

Features
The low-profile support units offer the low center height construction suited for the compact FA series ball screws.

Product configuration
All parts required for ball screw mounting are provided as a set (see the table below). The bearing housing of support unit
for fixed side contains a built-in angular contact ball bearings and oil seal and should not be disassembled.

Fixed side support unit

Part No. Part Remarks (surface treatment, grease)
Bearing housing Triiron tetroxide film
® Angular contact ball bearing PS2
Qil seal
Cover Triiron tetroxide film
-1 @ |Spacer
® |Lock nut Triiron tetroxide film
@ Setscrew Triiron tetroxide film
® |Deep groove ball bearing Comes with support side, PS2
® |Snap ring Triiron tetroxide film
. . . Other machine screws are either made of stainless steel or coarted with
Simple side support unit triiron tetroxide film.
\ L7
Am = :‘ Part No. Part Remarks (surface treatment, grease)
r @ |Bearing housing Triiron tetroxide film
T - * ® |Deep groove ball bearing PS2
L"’4[]7,[\\_E ::l ® |Snap ring Triiron tetroxide film
LA

Reference number

Example: WBK 08 S - 01

No code or A: conventional standard support unit
B: Low-profile support unit

Support unit product code 01: Square type, 11: Round type

Mounting code
No code: Fixed side support unit
Nominal size code (internal bore of bearing)* S: Simple side support unit

*For simple side support units, please note that size codes of 12 or less do not represent internal bores of bearing.

198



Low-profile Support Units for Compact FA Series

Fixed side support unit (square type)
E

v - O+
—— ; ; ) )
¢ - e Je X ——X—H+
_ ! > | N
M

©
©

Pl AR
| | | 1| o<
2 @ T @ | S ]
L A
J K H 2-gXdrill thru Ql P |Q 4-gXdrill thru
T #Yc’bore, depth Z #Yc’bore, depth Z
Fixed side support unit Section S (WBK08-15) Section S (WBK20)
Unit: mm
Screw Fixed side support unit (square type)
di?a?ﬁ;tter Reference number| ds A B C D [E F H J K L N P Q w | X Y V4 M
310 WBKO08-01A 8 | 52 | 32 |17 26 | 25 14 |11.5|28 7 — 4 — (= 38 6.6 11 12 M8X1
p12 WBK08-01B 8 | 62 | 31 [165| — | — 14 |11 255 45(215 35| — | — 46 9 14 18 M8X1
WBK10-01B* | 10 | 70 | 38 | 20 — | = 17 |12 30 55|24 6 — | — 52 9 14 19 | M10X1
15 WBK12-01A 12 | 70 | 43 |25 | 35 | 36 | 19 |12 |30 55|24 6 — | — | 52| 9 |14 | 11 | M12X1
WBK12-01B 12 | 70 | 38 | 20 — | — 19 |12 30 55|24 6 — | — 52 9 14 19 | M12X1
4520 WBK15-01A 15 | 80 | 50 | 30 40 | 41 22 |12.5 |31 12 25 5 — (= 60 | 11 17 15 | M15X1
WBK15-01B 15 | 80 | 42 |22 — | — | 22 (125 |31 12 25 5 — | — 60 | 11 17 | 23 | M15X1
%25 WBK20-01 20 | 95 | 58 (30 | 45 | 56 | 30 | — |52 |10 |42 |10 22 |10 | 75 |11 17 | 15 | M20X1

*Use support unit for fixing side for opposite drive side of shaft diameter o15.
Remarks 1. Mount to the base using side A as the reference.
2. Tighten the setscrew after tightening the lock nut and adjusting.
3. Insert the set piece and then tighten the setscrew.

Simple side support unit

£ 2-¢gXdrill thru
| #Yc’bore, depth Z |
| N
T T T T @::: e ,,J#lkxlt%fiqu i
] 1 TS 7T
o | T T i R I
° 3 i i i i o ‘ ::::“::::::%”ﬁ\ \/\kii,: P, ﬁnii{
O L Ll Eﬁﬂ e L,QH*J@V
] | — A o e e I
| | i | | L L e r
w R/2_| R/2
B A R
Unit: mm
Screw Simple side support unit
dgﬁﬁgter Reference number [e 3 A B (9] D E R w X Y V4
%10 WBK08S-01 6 52 32 17 26 25 15 38 6.6 11 12
$12 WBK08S-01B 6 62 31 185 — — 16 46 9 14 18
515 WBK12S-01 10 70 43 25 85 36 20 52 9 14 11
WBK12S-01B 10 70 38 20 — — 20 52 9 14 19
420 WBK15S-01 15 80 50 30 40 41 20 60 9 14 11
WBK15S-01B 15 80 42 22 — — 20 60 9 14 23
%25 WBK20S-01 20 95 58 30 45 56 26 75 11 17 15

Remarks 1. Mount to the base using side B as the reference.

199




Compact FA Series

Square type and Round type

Fixed side support unit (round type)

K, L P_Q
Q ] < ] 1 ] ]
° \ | __
=8 \, :
M
H J J H N AR AR
E F OA
Unit: mm
Screw Fixed side support unit (round type)
di?;r‘r?gter Reference number| d, A C D E F H J K L N P Q U w | X Y Z M
#10 WBKO08-11 8 | 35 | 43 | 28 |28 7 |14 9 | 4 10 | 8 5) 4 14 | 35 |34 | 65| 4 M8X1
312 WBKO08-11B 8 | 42 | 52 | 34 |255| 45(155| 10 | 35| 12 7 6 4 14 | 42 | 45| 8 4 M8X1
515 WBK10-11* 10 | 42 | 52 | 34 |27 75|17 10 | 5 12 85| 6 4 17 | 42 | 45 | 8 4 | M10X1
WBK12-11 12 | 44 | 54 | 36 |27 75|17 10 | 5 12 85| 6 4 19 | 44 | 45| 8 4 | M12X1
%20 WBK15-11 15 | 52 | 63 | 40 [32 |12 |17 15 | 6 11 |14 8 7 | 22 | 50 | 55| 95| 6 | M15X1
%25 WBK20-11 20 | 68 | 85 | 57 |52 |10 |30 22 |10 20 (14 14 8 | 3 | 70 | 6.6 |11 10 | M15X1
*Use support unit for fixing side for opposite drive side of shaft diameter 15.
Remarks 1. Tighten the setscrew after tightening the lock nut and adjusting.
2. Insert the set piece and then tighten the setscrew.
Specifications of support unit
Fixed side support unit Simple side support unit
Screw Axial load Maximum | Tightening torque [N-cm] Radial load
shaft Support unit Sy [p— s:[tarting Support unit Bearing [~ 4
diameter reference number ratings Ca [N ] orque | | ek nut | Setscrew | reference number| number ratings G [N]
WBKO08-01A (square type WBKO08S-01
#10 |WBKO08-11 (r(()::wd typz;) ) 4400 1430 0.88 =
p12  |WBKO08-01B (square low-profile type) 490 69 (M3) WBKO08S-01B 60622 2260
6 600 2730 1.9
WBKO08-11B (round type) =
WBK10-01B (square low-profile type)* 6 600 5730 19 930 147 (M4) —
WBK10-11 (round type) =
315 |WBK12-01A (square type) WBK12S-01 600022 4550
WBK12-01B (square low-profile type) 7100 3040 2.1 1370 147 (M4) WBK12S-01B
WBK12-11 (round type) =
WBK15-01A (square type) WBK15S-01
#20  |WBK15-01B (square low-profiletype)| 7 600 3380 2.3 2350 147 (M4) [ WBK15S-01B | 6002ZZ 5 600
WBK15-11 (round type) =
o LA (EEEDi ) 17 900 8 240 5.4 4700 147 (ay | WBK20S-01 6204ZZ | 12800
WBK20-11 (round type) =

*Use support unit for fixing side for opposite drive side of shaft diameter 15.

200




WBK Support Units

Support units

® Classification

Ball screw support units are classified into categories by their

shape. Select the type that is appropriate for you to use.

@ Features

e Short delivery time: Standardized items in stock

e Use most suitable bearings
On the fixed support side, the angular contact ball bea-
ring is used. It has great rigidity and low friction torque
which match the rigidity of the ball screw.
The thrust angular contact ball bearing with high pre-
cision and great rigidity is another choice for the fixed
support side.

e High dust prevention, and low friction torque
Oil seal is installed in small clearance on the fixed sup-
port side. A deep-groove ball bearing with a shield on
both sides is used on the simple support side. This mi-
nimizes friction torque.

e L ock nut is provided.
A lock nut of fine grade finish is provided to fix the
bearing with high precision.

201

16



NSK

Support units

Accessories to use with ball screw are available in stock.

Support unit categories

- _ - Bearing bore
Application Shape Support side | Bearing in use
Bearing seat diameter
WBK**-01
Fixed support| Angular contact|
06~¢25
side ball bearing
WBK**S-01
L Deep groove
Square 06~¢25
ball bearing
Simple support
WBK**SF-01 side
Deep groove
Small
equipment, 012, 915
light load ball bearing
(Exclusive for VFA Series)
WBK**R-01 (Support kit) Deep groove
ball bearing
(arranged to 04, 96
have angular | (Exclusive for
Fixed supnort RMA and RMS
Ixed supp contact) Series)
Round
WBK**-11 side
Angular contact
06~¢25
ball bearing
WBK**DF*-31 Thrust angular
Machine Fixed support
tools, Round contact ball 017~ ¢ 40
heavy load .
side
bearing

202




WBK Support Units

Support units

@ Classification
Ball screw support units are classified into
categories by their shape (Table I-6.6). Select the
type that is appropriate for you to use.

@ Features

® Short delivery time: Standardized items in stock

® Use most suitable bearings
On the fixed support side, the angular contact ball
bearing is used. It has great rigidity and low friction
torque which match the rigidity of the ball screw.
The thrust angular contact ball bearing with high
precision and great rigidity is another choice for the
fixed support side.

®High dust prevention, and low friction torque
Qil seal is installed in small clearance on the fixed
support side. A deep-groove ball bearing with a
shield on both sides is used on the simple support
side. This minimizes friction torque.

®Lock nut is provided.

A lock nut of fine grade finish is provided to fix the
bearing with high precision.

Details for the new NSK Low Profile Support Units you will
find on page 154 and following.

@ Reference number and applicable ball screw
(For light load) WBK 08 S-0

=t

Support unit product code

Nominal size

Support side code No code:Fixed support side
Sr:Simple support side
R:Fixed support side (support kit)

Design serial number

(For heavy load) WBK 25 DF-3

|

Nominal size

T

Bearing combination

DF (duplex), DFD (triplex), DFF (quadruple)

Design serial number

203




NSK

The table below show "shaft diameter/lead combinations" of standard ball screws that are applicable to
support units.
Support units for light load and applicable "shaft diameter/lead combinations"

Support unit / reference number

"'Shaft diameter/lead combinations"

Square Round of standard ball screws

Fixed support side | Simple support side | _. ) that are applicable to support unit
- PP . p p.pA Fixed support side PP PP
(driving motor side) |(opposite to driving motor)

WBK06-01A — WBKO06-11 P4x1, ¢6x1

WBKO08-0TA | WBK08S-01 | WBKOS-11 | ¢8x1, ¢8x 1.5, ¢8x2, ¢10x2, ¢10x2.5

WBK10-01A | WBK10S-01 WBK10-11 ®10x4, P12x2, $p12x2.5, ¢12x5, ¢p12x10

®14 x5, ¢14x8, ¢p15x10, ¢p15x20, P16x2
WBK12-01A WBK12S5-01 WBK12-11
$16x2.5, P16x5, 916x16, P16x32

WBK15-01A | WBK15S-01 WBK15-11 $20x4, $20x5, ¢20x10, ¢20x20, ¢$20x40

Light load /small equipment

$20x4, p20x5, $p20x6, $20x 10, ¢20x 20
WBK20-01 WBK20S-01 WBK20-11
$25x25, ¢25x50, ¢28x5, P28 x6

$32x5, $32x6, $32x8, #32x 10
WBK25-01 WBK25S-01 WBK25-11
$32%25, $32x32,

Remarks 1. Reference number is based on the bearing bore on the fixed support side.
2. Please note that the reference numbers 12 or below on the simple-support side do not match the bore of
the deep-groove ball bearing in use.

Support units for heavy load and applicable "shaft diameter/lead combinations"

Support unit / reference number
"Shaft diameter/lead combinations"
of standard ball screws
Fixed support side Fixed support side that are applicable to the support unit

» (drive motor side) (opposite to drive motor)
8
)
£
f% WBK30DF-31 WBK25DF-31 ¢36>< 10
IS
= WBK30DFD-31 WBK25DFD-31 ¢36 x 10, ¢40 x 10
@®
o
> WBK30DF-31 WBK30DF-31 ¢40><5, ¢40><8, ¢40>< 10, ¢40>< 12
o
)
T WBK30DFD-31 WBK30DFD-31 ¢40 X 12

WBK35DF-31 WBK35DF-31 (/)45X 10

WBK40DF-31 WBK40DF-31 (])50 x 10

WBK40DFD-31 WBK40DFD-31 (])50 x 10

204



WBK Support Units

Dimensions of support unit for light load / small equipment
The table shows characteristic value of the support units for light load / small equipment.

Characteristic values of support units for light load
Fixed side support unit

Support unit on simple support side

706ATYDFC7P5
708ATYDFC8P5 4400 1450 59 53 0.88 60677 2260 |WBKO08S-01
(Square)
6600 2730 200 94 1.9 60877 WBK10S-01
7000ATYDFC8P5 3300
(Square)
7150 3040 215 104 2.1 600027 WBK12S-01
7001ATYDFC8P5 4550
(Square)
7600 3370 235 113 2.3 600277 WBK15S-01
7002ATYDFC8P5 5600
(Square)
17900 | 8260 440 155 5.4 12800 |WBK20S-01
7204ATYDFC8P5 620477
(Square)
20200 | 10000 | 580 192 7.2 14000 |WBK25S-01
7205ATYDFC8P5 620577
(Square)

205



NSK

Square type Reference number: WBK06-01A

2 (5X®)

(22)

Hh

mT™m

45
Bl
s
]

3.5

20

Section X-X

Round type Reference number: WBK06-11

ee 4-2.9 drill thru.,
3.5 (22) C'bore 5.5X3.5

95 PCD 28 (For M2.5 bolt)
= Q
Fﬂx
LT e ¥
o N e e s Lo SRR /0,
e g e e - J
T ° ° ] LSRN T N
=
o
13 7 12 Spanner
20 (5.5) Oog
_Section X-X'

206




WBK Support Units

WBKO06
Unit: mm
, 30
[
(12) 18
2-5.5 drill thru.,
C'bore 9.5 X 11
X ©
i f W{RN | e
__:_ I_ 1 é%};‘ 1 _I_ : 0
1 1 1 1 A
N e
I I I I
1 ! 1 1 ! 1 -
X
P12 Spanner,
42
45 (22)
| 2.5
_|__‘ 1 Parts list
= .
= Number|  Name of part Quantity Remarks
{/‘7 L -— (1 |Bearing housing 1 | With oil seal
{A N .
-1 (2 |Bearing One set| 706ATYDFC7P5
— (3 |Retaining cover 1
! FQ‘ @) | Spacer 1
I ® |Lock nut 1 For M6, tightening torque 245N -cm {25kgf-cm}
(1.5)
. s oo (® |Setscrew 1 | M3, with a set piece (pad)

Remarks 1. When installing a square support unit, place A side to the
base. Use a spacer if necessary to adjust height.
2. Components (1), @), 3 are assembled into a unit. Do not

disassemble.

3. An appropriate volume of grease is packed in the support

unit.

4. Tighten the set screw (® after adjustment.

207



NSK

Square type Reference number: WBK08-01A (fixed support side); WBK08S-01
(simple support side)

F 38 @
(13.5) 25
2-6.6 drill thru.,
Y C'bore 11 X12
T : : ‘ . ‘j _!

] i 3 | ! s 77#F$7‘;:::7
N IEN i gy
il i T a

I i
B]
% 15
WBK08S-01 _Section Y-Y'

Round type Reference number: WBK08-11

4-3.4 drill thru.,
C'bore 6.5 X4

PCD 35 (For M3 bolt)
A5

17.5

Ny

{
@]

14 9 14 Spanne
Assembly example 1 23 (7) Ugg
Section Z-Z

208



WBK Support Units

WBKO08
Unit: mm
1 3)(4) (56 _ 38
[~
(13.5) 25
(26) _2:6.6 drill thru.,
C'bore 11 X12
\ X
©
T — é& T _fe
T o T ! AR L) |
) %’A%ﬁ%; PN NP/ g et
e s =i
| X |
:
115 | 1.5 514 Spanner
23 52
Section X-X WBKO8-01A
Parts list
(26) Numbei  Name of part Quantity Remarks
= ® Bearing housing 1 With oil seal on fixed support side
|
j 2 | Bearing One set| 706ATYDFC7P5
= ©) Retaining cover 1
kJﬁ,j @ | Spacer 1
- ® | Lock nut 1 For M8, tightening torque 490N-cm {50 kgf -cm}
— ® | Set screw 1 M3, with a set piece (pad)
‘ @ | Bearin 1 |6062Z
L :
Retaining ring 1
1.5
1 8 W ©) Bearing housing 1 Simple support side (only square type)

Remarks 1. When installing a square support unit, place A and B sides
to the base. Use a spacer if necessary to adjust height.
2. Components (), @), 3 are assembled into a unit. Do not
disassemble.
3. An appropriate volume of grease is packed in the support
unit.
4. Tighten the set screw (® after adjustment.

209




NSK

Square type Reference number: WBK10-01A (fixed support side); WBK10S-01 (simple support side)

§ 2 © O®
(1;) 36
2-9 drill thru.,

y C'bore 14 X 11

43
35

|

|

V| oe& | Gimple supportsidd) [
| |
| I
| I
| I

j 1 1
Y
E 7 7

70 20

WBK10S-01 Section Y-Y

Round type Reference number: WBK10-11

® 1 @ (6X7D) 4-4.5 drill thru.,
5  (29.5) C'bore 8 X 4
12 PCD 42 (For M4 bolt)
f\ ' A5
] NE= .
——.J_-I k \F ; -
[ \, / ° / 4 a
VeI e R i i s N -
R e &)
L BRI e > 5 °
I
L+l &
17 |10 By7 Spanner
27 _|(7.5) Y42
Section Z-Z

210




WBK Support Units

WBK10
Unit: mm
5) (67 _ 52
C
(29.5) (17) 36
2-9 drill thru.,
C'bore 14 X 11
= X *
Al @/ ‘ 8 ©
(T C o U °
TR o T T | | @\\ } i =
- =t —-x + -+ + T —F— T To—fF ==t
IRERANS S T N T U/ T Q
[ / \ | | Ey/ | | 8
T T Fixed support side | | 1 @J | | &
1 ol @ e
i L i 1
= \@ d L
12 P17 Spanner
24 (5.5) 70
Section X-X WBK10-01A
Parts list
Number|  Name of part Quantity Remarks
(D | Bearing housing 1 With oil seal on fixed support side
6, (295 @ |Bearing One set| 7000ATYDFC8P5
éili (3 |Retaining cover 1
I /\| Hexagon socket head cap
F | (@) | screw or cross recessed 4 M4
_____J pan head screw
E@ ® | Spacer 1
) s s e —
2=}-{/-\ ) H— ® |Lock nut 1 For M10, tightening torque 930N -cm {95 kgf-cm}
- ‘HE @ |Sset screw 1 M4 with a set piece (pad)
=__| Bearing 1 60877
|
! \J @ |Retaining ring 1
Bearing housing 1 Simple support side (only square type)
0.5 Assembly example 2
10| 17 |(@®5) Remarks 1. When installing a square support unit, place A and B sides

to the base. Use a spacer if necessary to adjust height.
2. Components (O, @), 3 are assembled into a unit. Do not
disassemble.
3. An appropriate volume of grease is packed in the support

unit.

4. Tighten the set screw () after adjustment.

211




NSK

Square type Reference umber: WBK12-01 (fixed support side); WBK12S-01 (simple support side)

52 © ®®
(1 36
2-9 drill thru.,

y C'bore 14 X 11

Ry

-+ w 7

. i A
Ul |11 ., R —

| | G 1
l v
8]

70 20
WBK12S-01 _Section Y-Y

Round type Reference number: WBK12-11

1 67 4-4.5 drill thru.,
5 (29.5) ‘ C'bore 8 X4

PCD 44 (For M4 bolt)

wol 1N i N !
S8l | WMo [o] T W,
BRI L,
_ | M @‘ - «
- |
|
44N @
17 |10 “19 Spanner
2 | »
Section Z-Z

212



WBK Support Units

WBK12
Unit: mm
L 52
(1;) 36
2-9 drill thru.,
C'bore 14 X 11
\ X
' @ ®
£ : T AN T et
:I{ﬂ“’ ] - f%k\ I
B Y — T 2
A —— BRI S = = I
T P H P «
P Pl Pl
» \@ R
12 19 Spanner
24 6 | (5.5) 70
Section X-X WBK12-01A
Parts list
Numberf  Name of part Quantity Remarks
6 _ (295) (1 | Bearing housing 1 | With oil seal on fixed support side
’ﬂti @) |Bearing One set| 7001ATYDFC8P5
=_:“ "] (3 | Retaining cover 1
H ] Hexagon socket head cap
- () | screw or cross recessed 4 |M4
(::3,{7 v -— pan head screw
'L::I—@‘ N ® | Spacer 1
| L o ® | Lock nut 1 For M12, tightening torque 1370N<cm {140 kgf-cm}
L1 T @ | Set screw 1 M4 with a set piece (pad)
!
—_ Bearing 1 |60002Z
L1 @ |Retaining ring 1
10| 17 | (8.5) , , _ ]
=1 Bearing housing 1 Simple support side (only square type)

Remarks 1. When installing a square support unit, place A and B sides
to the base. Use a spacer if necessary to adjust height.
2. Components (), @), 3 are assembled into a unit. Do not

disassemble

3. An appropriate volume of grease is packed in the support

unit.

4. Tighten the set screw (7) after adjustment.

213



NSK

Square type

(simple support side)

50

Reference number: WBK15-01A (fixed support side); WBK15S-01

—w ® ©®
(19@) 41 /
2-9 drill thru.,
vy "Cbore 14X 11
il A M
o |\ . g L
Pl I et aca -
| | 1] L
l y
8]
80 20
WBK15S-01 ‘Section Y-Y

Round type Reference number: WBK15-11

~l-

/@ 00
(38)

11

=

214

Sio EIF —ans i—ﬁj I
= RV 1
T wg [N l}’ “ ] Z
L]lo b
s
- =
= ;Jr
T — 6 \<:
17 15
Assembly example 1 32 (12)
Section Z-Z

4-5.5 drill thru.,
C'bore 9.5 X6

PCD 50 (For M5 bolt)




WBK Support Units

WBK15
Unit: mm
1 _ 60
(192) 41
2-11 drill thru.,
C'bore 17 X 15
N X|
o
- ‘ ‘ : —t
B T i e e AN T
AR | L L‘r,,T‘ U Lr,,T‘ 3
siis e E | s
1 | |
: S @ | x
12,5 =22 Spanner
(12) 80
Section X-X WBK15-01A
Parts list
Number|  Name of part Quantity Remarks
8 (38) ® Bearing housing 1 With oil seal on fixed support side
aﬁi @ | Bearing One set| 7002ATYDFC8P5
- T ® Retaining cover 1
| *J Hexagon socked head
(c:grj\; @ cap screw 4 M4
v T
0 JJ{N N ® | spacer 1
o ® Lock nut 1 For M15, tightening torque 2350N -cm {240 kgf-cm}
! @ Set screw 1 M4 with a set piece (pad)
_ Bearing 1 |600222
4 ©), Retaining ring 1
5| 17 —— . .
(14) Bearing housing 1 Simple support side (only square type)

Remarks 1. When installing a square support unit, place A and B sides
to the base. Use a spacer if necessary to adjust height.
2. Components (1), @), 3 are assembled into a unit. Do not
disassemble.
3. An appropriate volume of grease is packed in the support
unit.
4. Tighten the set screw (D) after adjustment.

215




NSK

Square type Reference number: WBK20-01 (fixed support side); WBK20S-01 (simple support side)

s ® ®®

(1 9_?5) 56

2-11 drill thru.,
C'bore 17 X 15

58
45
———— T

R S
805
0
B
A/ﬁ ¢‘
|
e

@
:
I Simple support side — 7J
l '

95

26

WBK20S-01

Round type Reference number: WBK20-11

Ge 4-6.6 drill thru.,

10, (52) C'bore 11X 10
PCD 70 (For M6 bolt)

Y30 Spanner

“68

Assembly example 1 50 (1

Section Z-Z

216



WBK Support Units

WBK20
Unit: mm
(17)
5)(6X7 s () ()
N N> N>
(52 @) )
of W N
B AL 75 .
T Kegl sl T T 4-11 drill thru 56 (19.5)
N L;Ik’J Chore 17 X15 XV T
i
Fixed support side ; ; y N ; ; 2
x ‘% r} \ }7 %‘ ° Q
I I I I o 0
N 1] 8
119 Dl | Dl
|
42 10 (‘D/ X
Section X-X 30 Spanner
WBK20-01 %
Parts list
Number|  Name of part Quantity Remarks
(1) | Bearing housing 1 With oil seal on fixed support side
14, 62) @) | Bearing One set| 7204ATYDFC8P5
8 i
'/T (3 | Retaining cover 1
- Hexagon socked head
—H R @ cap screw 4 M6
‘lJ =
T, | - ® | Spacer 1
Ul f] -— ® |Lock nut 1 For M20, tightening torque 4700N-cm {480 kgf -cm}
= @ | Set screw 1 M4 with a set piece (pad)
! Bearing 1 620477
] ©O) Retaining ring 1
1
oo | 30 9“4) Bearing housing 1 Simple support side (only square type)

Remarks 1. When installing a square support unit, place A and B sides
to the base. Use a spacer if necessary to adjust height.
2. Components (1), 2, 3 are assembled into a unit. Do not

disassemble.

3. An appropriate volume of grease is packed in the support

unit.

4. Tighten the set screw () after adjustment.

217



NSK

Square type Reference number: WBK25-01 (fixed support side); WBK25S-01 (simple support side)

© @©®
(7 85
(19;) 66
) )
| 2-11 drill thru. ( 1
J ] g
1L g | F
s TL % Lo, \,JH \ \%
l e + L)
B 105
30
Section Y-y

WBK25S-01

Round type Reference number: WBK25-11

90 4-9 drill thru.,

(60) C'bore 15X 13
PCD 80 (For M8 bolt)

A5
Z -
.
| |
§ AY — (o)) J ©
= =g | 8
-
] od
30 | 27 36 Spanner
Assembly example 1 57 (13) O79
Section Z-Z

218




WBK Support Units

WBK25
Unit: mm
1 5) (67 > N D € )
(@) © g s & fk\ 4-11 drill thru.
) () {} 2-7.8 drill thru.
| (Pilot hole for 8 dia. tapered pin.)
- R 2 - 85
N SV i >
; - | ‘ 66 19.5)
. AT X |
/"l = 9
\ 8
14 1k g S
[ [ '™
o @0 |
|
e
Section X-X WBK25-01 36 Spanner
105
Parts list
Number|  Name of part Quantity Remarks
17 (60) (D | Bearing housing 1 With oil seal on fixed support side
10 @ |Bearing One set | 7204ATYDFC8P5
\,1’7 ® Retaining cover 1
__ ,J Hexagon socked head
o TS : ® cap screw 4 Mé
(Th b T
Wl K L ® Spacer 1
= ® |Lock nut 1 For M25, tightening torque 8400N -cm {860 kgf-cm}
J @ |Set screw 1 M6 with a set piece (pad)
4 Bearing 1 620577
27 | 30 |i20) © | Retaining ring 1
Bearing housing 1 Simple support side (only square type)

Remarks 1. When installing a square support unit, place A and B sides
to the base. Use a spacer if necessary to adjust height.
2. Components (O, @), 3 are assembled into a unit. Do not
disassemble.
3. An appropriate volume of grease is packed in the support
unit.
4. Tighten the set screw (7) after adjustment.

219



NSK

Square type Reference number: WBK12SF-01 (Simple support side: For VFA1210)

Housing 52 2-9 drill thru.,

36 C'bore 14 x 11
(For M8 bolt)

[ p—
|1 ———

43
-0.050

25
35

7 P

70

Square type Reference number: WBK15SF-01 (Simple support side: For VFA1510)

Housing 52 2-9 drill thru.,

36 C'bore 14 x 11
(For M8 bolt)

p——
|1 R—

43
-0.050
35

25

4 4

70

220



WBK Support Units

Name of part

Bearing housing

Parts list

Quantity
1

WBK12SF

(WBK12SF-01)

Remarks

Simple support side

Bearing

1

600127

Retaining ring

2

Remarks 1. When installing the square support unit, place side A to

the base and install the unit in the vertical direction. Use a
spacer if necessary to adjust height.

2. Do not disassemble the support unit.

3. An appropriate volume of grease is packed in the bearing.

Applicable ball screw : VFA1210

Name of part

Bearing housing

Parts list (WBK15SF-01)

Quantity
1

Remarks

Simple support side

Bearing

1

690277

Unit: mm
Ball bearing
(6001Z2)
A
= - Number
[ 2-C type internal @
L retaining ring @
,| , | (For28bore) ®
20
Ball bearing
(6902Z2)
u,_) - Number
ASS
| N 2-C type internal
e retaining ring
(For 28 bore) ®
7| 7
20

Retaining ring

2

Remarks 1. When installing the square support unit, place side A to

the base and install the unit in the vertical direction. Use a
spacer if necessary to adjust height.

2. Do not disassemble the support unit.

3. An appropriate volume of grease is packed in the bearing.

Applicable ball screw : VFA1510, VFA1520

221




NSK

Round type Reference number: WBK04R-11

{ Mounting surface
. | M9 5
_ ; o | i}
ﬂ\ o 2 < T o9
I SIe S o
L = O, <
@/ 9 Section X-X

Round type Reference number: WBKO6R-11

2 25 .68 Mountingsurface

h
|
j

|
+
W
=

u

|

L

P |
i 17
b

@/ 11 Section X-X

222



WBK Support Units

WBK**R
Unit: mm
Parts list (WBK04R-11)
14 Number|  Name of part Quantity Remarks
N\ O) Bearing housing 1
+ ©) Bearing One set | F69477
\ ©) Spacer 1
g -~ 7 - Lock nut 1 For M4, tightening torque 98N -cm {10 kgf+cm}
® Set screw to secure the lock nut 1 M2.5 with a set piece (pad)
Remarks 1. Adjust phases of the bearing and the lock nut at time of
assembly, and secure them in the state when the run out
2-3.4 drill thru. of the flange mounting surface is minimal.
(For M3 bolt) 2. Assembled to an arbor (M4 bolt, nut) at time of delivery.
Remove it from the arbor and move to the ball screw shaft
end before use.
3. An appropriate volume of grease is packed into the
bearing.
4. Slightly tighten the set screw (5) after adjustment.
Applicable ball screw : RMA0601
19 Parts list (WBKO6R-11)
Number| Name of part Quantity Remarks
A\—/— @ Bearing housing 1
@ |Bearing One set | FB967Z
3« \ N ® |Sspacer 1
ESUWY R
/ @ |Lock nut 1 For M6, tightening torque 118N-cm {12 kgf -cm}
(® | Set screw to secure the lock nut 1 M2.5 with a set piece (pad)
Remarks 1. Adjust phases of the bearing and the lock nut at time of

assembly, and secure them in the state when the run out
of the flange mounting surface is minimal.

2. Assembled to an arbor (M6 bolt, nut) at time of delivery.
Remove it from the arbor and move to the ball screw shaft
end before use.

3. An appropriate volume of grease is packed into the
bearing.

4. Slightly tighten the set screw (5 after adjustment.

2-3.4 drill thru.
(For M3 bolt)
X

Applicable ball screw : RMA0801, RMA0801.5, RMA0802

223



NSK

When using with a rolled ball screw
When using a support unit (for small equipment) for
a rolled ball screw, install a spacer for holding a seal

in the ball screw side of the shaft end.

722

The table shows the dimensions of spacer. NSK
will provide the spacers on request. Use the

reference number in the table, and place an order
separately.

D

od

2.

B

Drawing of support unit spacer

Dimensions of support unit spacer

Unit: mm
Spacer Dimensions Applicable support unit
reference number Internal diameter d | Outside diameter D Width B reference number
WBKO06K 6 9.5 5.0 WBKO06-**
WBKO8K 8 11.5 5.5 WBKO08-**
WBK10K 10 14.5 55 WBK10-**
WBK12K 12 15.0 5.6 WBK12-**
WBK15K 15 19.5 10.0 WBK15-**
WBK20K 20 256 11.0 WBK20-**
WBK25K 25 32.0 14.0 WBK25-**

224




WBK Support Units

(2) Dimensions of support unit: heavy-load / for machine tools

Support units for heavy-load / machine tools use a thrust angular contact ball
bearing (TAC Series) with high rigidity and accuracy. The thrust angular contact ball
bearing has very suitable functions and structure as a ball screw support bearing.

There are three combinations as shown below.

f
— —
h\u | E—

Eﬁi@@ziﬂ ﬁmm@@ﬂ

]

DF combination

="K S=ll

e T

F
@
@
5
=

W m=p

A-L

e

=i =i
=il =i
DFD combination DFF combination
Parts list
Partnumber| Part name Quantity
M | Housing 1
@ | Retaining cover 1
® | High accuracy thrust angular contact ball bearing | One set
@® | Dust seal 2
® | Collar 2
® | Preload bolt 6or8
—-—r @ | Shim One set
Lock nut 1
= Remarks

1. Mount sections A and B to the machine base.

2. NSK support units are precisely preloaded and
adjusted. Components ), @, @, @, ®, @ are
assembled into a unit. Do not disassemble.

3. Grease is packed into support units.

4. Lock nut ® is exclusively prepared for ball screw.
The end face of the nut is in strict control being
precisely perpendicular to the V thread. Secure
the lock nut using the set screw.

Lock nut is also available as an accessory (See
page 180. Refer to general catalogue E3161
"Precision Machine Components" for high precision
trust angular contact ball bearing (TAC Series).

225



NSK

Remarks 1. Rigidity
Values in the Table are theoretical values obtained from the elastic deformation between the groove and the balls.

2. Starting torque

Starting torque indicates torque due to the preload of the bearing. It does not include seal torque.
3. The tolerance of the shaft bearing seat
We recommend "h5 grade of the fits tolerance.

226

L Ly
=5 ==Y |
o Tl o T o < e ( .
& - - _1QlQ Q N | | I _
% é ASY é | S = = C S8 =
et e a ﬁ
S=== ==
Ls
Ly Ly
l* l*
L L,
Lock nut Dimensions of bearing seat

Support unit Support unit Basic dynamic
No. load rating C,
d| D| D, |D,| LI|L|L|A|W|X| Y| Z]|d*I*|V]P*Q* N {kgf}
WBK 17DF-31| 17 | 70 (106 |72 | 6032|1580 88| 9 |14 |85[45| 3 |58 |M5| 10 |21900 | 2240
WBK 20DF-31| 20 | 70 [106|72 | 6032|1580 88| 9 |14 |85[45| 3 |58 |M5|10|21900 | 2240
WBK 25DF-31 66 | 33 28500 | 2910
WEBK 25DFD-31 25| 85(130 |90 a1l 43 18 |100(110| 11 [17.5/ 11 |57 | 4 |70 |M6| 12 26500 | 4700
WBK 30DF-31 66 | 33 29200 | 2980
WEBK 30DFD-31 30 | 8513090 1| a3 18 [100(110| 11 {17.5{ 11 |57 | 4 | 70 |[M6| 12 27500 | 2850
WBK 35DF-31 66 | 33 31000 | 3150
WBK 35DFD-31| 35 | 95| 142 |102| 81| 48| 18 |106(121| 11 {17.5/ 11 [69 | 4 | 80 [M6| 12 | 50500 | 5150
WBK 35DFF-31 96 | 48 50500 | 5150
WBK 40DF-31 66 | 33 31500 | 3250
WBK 40DFD-31| 40 | 95| 142 |{102| 81 | 48| 18 |106|121| 11 [17.5/ 11|69 | 4 |80 |[M6| 12 | 561500 | 5250
WBK 40DFF-31 96 | 48 51500 | 5250




WBK Support Units

15 15°

4-P* tap, Q" deep. 4-P* tap, Q" deep.
(both sides) (both sides)
NS - BN
6-X drill thru., y y 8-Xdrill thru., ” ”
C'bore YXZ A C'bore YXZ A
Bearing bore d =30 Bearing bore d 235
Unit: mm
Permissibl . i
erm|35| © Preload Axial rigidity Starting torque Lock nut Bearing §eat
axial load for unit
N {kgf} N {kgf} Num  |{kgfium} | N-m [kgf-m} M D, | Ly | d| L | L
26600 2710 2150 220 750 75 14.0 1.5 | M17x1.0| 37 |18 |17 | 81 | 23
26600 2710 2150 220 750 75 14.0 1.5 | M20x1.0| 40 |18 |20 | 81| 23
40500 4150 3150 320 1000 100 23.0 2 89
81500 8300 4300 440 1470 150 31.0 3 Mzl || &9 ) 20 | /A9 104 26
43000 4400 3350 340 1030 105 24.0 2.5 89
86000 8800 4500 460 1520 155 33.0 3 M30x1.5 1 80 | 20 | 30 104 26
50000 5100 3800 390 1180 120 28.0 3 92
100000 | 10200 5200 530 1710 175 37.0 4 M35x1.5 | 65 |22 |35 (107]| 30
100000 | 10200 7650 780 2350 240 55.0 5.5 122
52000 5300 3900 400 1230 125 28.0 3 92
104000 | 10600 5300 540 1810 185 38.0 4 M40x1.5 | 60 | 22 |40 |107]| 30
104000 | 10600 7850 800 2400 245 57.0 5.5 122

Remarks 4. Dimensions with * (asterisk) mark
*Pilot diameter and tapped screws marked with "asterisk *" are used for seal unit installation for NSK standard hollow
shaft ball screws. They also can be used for dust cover and damper installation.

5. Grease is packed into the bearing. It is not necessary to apply grease before use. We recommend "h5 grade of the fits

tolerance.

227



NSK

In addition to the support units, NSK has other components for the ball screw as shown below.

Lock nuts

Ball screw support bearing must be installed with minimum inclination. NSK lock nuts exclusive for
ball screw help to reduce this inclination.

1-S B
Set screw \
X

X B \ Brass pad ‘ ﬁ
F Section X-X
A Type Shapes and dimensions A Type lock nuts
Unit: mm
Lock nut reference number| M | D | F | B | d | B, | S Tightening torque N+m (for reference)
WBKO06L-01 M6x0.75 | 145 | 12 ) 10| 2.7 M3, with brass made set piece 245
WBKO08L-01 M8x 1.0 17 14 (6.5 | 13 4 M3, with brass made set piece 490
WBK10L-01 M10x 1.0 | 20 17 8 16 B M4, with brass made set piece 930
WBK12L-01 M12x1.0 | 22 19 8 17 5 M4, with brass made set piece 1350
WBK15L-01 M15x 1.0 | 25 22 |10 | 21 6 M4, with brass made set piece 2350
WBK20L-01 M20x1.0 | 35 30 [ 13 | 26 8 M4, with brass made set piece 4700
WBK25L-01 M25 X1 5|42 36 |16 | 34| 10 M6, with brass made set piece 8400

Remarks: Insert a set piece (brass pad) and tighten the securing set screw.

2-S By
Set screw \
39 33
20
4-9d, B Brass pad
4- ¢ds B
Section X-X
S Type Shapes and dimensions S Type lock nuts ,
Unit: mm
Lock nut reference number| G | DS, | B | d, | d, | d, | d, | d | B, | S | Tightening torque N-m (for reference)
WBK17L-31 M17x1.0 | 37 18 30 18 27 4.3 4 10 M6 5400
WBK20L-31 M20x 1.0 | 40 18 30 21 30 4.3 4 10 M6 7350
WBK25L-31 M25x 1.5 | 45 20 40 26 35 43 4 1 M6 13200
WBK30L-31 M30x 1.5 | 50 20 40 31 40 43 5 " M6 19600
WBK35L-31 M35x 15 | 55 22 50 36 45 43 5 12 M6 29400
WBK40L-31 M40x 1.5 | 60 22 50 41 50 4.3 5 12 M6 39200

228


N389456
Schreibmaschinentext

N389456
Textfeld
1,5


	Deckblatt NSK Ballscrews
	NSK_Ballscrews.pdf
	2008 Cover pages
	2008 ECDLG.pdf



<<
  /ASCII85EncodePages false
  /AllowTransparency false
  /AutoPositionEPSFiles true
  /AutoRotatePages /All
  /Binding /Left
  /CalGrayProfile (Dot Gain 15%)
  /CalRGBProfile (ColorMatch RGB)
  /CalCMYKProfile (U.S. Sheetfed Uncoated v2)
  /sRGBProfile (sRGB IEC61966-2.1)
  /CannotEmbedFontPolicy /Warning
  /CompatibilityLevel 1.4
  /CompressObjects /Tags
  /CompressPages true
  /ConvertImagesToIndexed true
  /PassThroughJPEGImages true
  /CreateJDFFile false
  /CreateJobTicket false
  /DefaultRenderingIntent /Default
  /DetectBlends true
  /ColorConversionStrategy /LeaveColorUnchanged
  /DoThumbnails false
  /EmbedAllFonts true
  /EmbedJobOptions true
  /DSCReportingLevel 0
  /EmitDSCWarnings false
  /EndPage -1
  /ImageMemory 1048576
  /LockDistillerParams false
  /MaxSubsetPct 100
  /Optimize true
  /OPM 1
  /ParseDSCComments true
  /ParseDSCCommentsForDocInfo true
  /PreserveCopyPage true
  /PreserveEPSInfo true
  /PreserveHalftoneInfo false
  /PreserveOPIComments false
  /PreserveOverprintSettings true
  /StartPage 1
  /SubsetFonts true
  /TransferFunctionInfo /Apply
  /UCRandBGInfo /Preserve
  /UsePrologue false
  /ColorSettingsFile (None)
  /AlwaysEmbed [ true
  ]
  /NeverEmbed [ true
  ]
  /AntiAliasColorImages false
  /DownsampleColorImages true
  /ColorImageDownsampleType /Bicubic
  /ColorImageResolution 300
  /ColorImageDepth -1
  /ColorImageDownsampleThreshold 1.50000
  /EncodeColorImages true
  /ColorImageFilter /DCTEncode
  /AutoFilterColorImages true
  /ColorImageAutoFilterStrategy /JPEG
  /ColorACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /ColorImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000ColorACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000ColorImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasGrayImages false
  /DownsampleGrayImages true
  /GrayImageDownsampleType /Bicubic
  /GrayImageResolution 300
  /GrayImageDepth -1
  /GrayImageDownsampleThreshold 1.50000
  /EncodeGrayImages true
  /GrayImageFilter /DCTEncode
  /AutoFilterGrayImages true
  /GrayImageAutoFilterStrategy /JPEG
  /GrayACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /GrayImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000GrayACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000GrayImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasMonoImages false
  /DownsampleMonoImages true
  /MonoImageDownsampleType /Bicubic
  /MonoImageResolution 1200
  /MonoImageDepth -1
  /MonoImageDownsampleThreshold 1.50000
  /EncodeMonoImages true
  /MonoImageFilter /CCITTFaxEncode
  /MonoImageDict <<
    /K -1
  >>
  /AllowPSXObjects false
  /PDFX1aCheck false
  /PDFX3Check false
  /PDFXCompliantPDFOnly false
  /PDFXNoTrimBoxError true
  /PDFXTrimBoxToMediaBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXSetBleedBoxToMediaBox true
  /PDFXBleedBoxToTrimBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXOutputIntentProfile ()
  /PDFXOutputCondition ()
  /PDFXRegistryName (http://www.color.org)
  /PDFXTrapped /Unknown

  /Description <<
    /FRA <>
    /ENU (Use these settings to create PDF documents with higher image resolution for improved printing quality. The PDF documents can be opened with Acrobat and Reader 5.0 and later.)
    /JPN <FEFF3053306e8a2d5b9a306f30019ad889e350cf5ea6753b50cf3092542b308000200050004400460020658766f830924f5c62103059308b3068304d306b4f7f75283057307e30593002537052376642306e753b8cea3092670059279650306b4fdd306430533068304c3067304d307e305930023053306e8a2d5b9a30674f5c62103057305f00200050004400460020658766f8306f0020004100630072006f0062006100740020304a30883073002000520065006100640065007200200035002e003000204ee5964d30678868793a3067304d307e30593002>
    /PTB <>
    /DAN <>
    /NLD <>
    /ESP <>
    /SUO <>
    /ITA <>
    /NOR <>
    /SVE <>
    /DEU <>
  >>
>> setdistillerparams
<<
  /HWResolution [2400 2400]
  /PageSize [612.000 792.000]
>> setpagedevice



<<
  /ASCII85EncodePages false
  /AllowTransparency false
  /AutoPositionEPSFiles true
  /AutoRotatePages /All
  /Binding /Left
  /CalGrayProfile (Dot Gain 20%)
  /CalRGBProfile (sRGB IEC61966-2.1)
  /CalCMYKProfile (U.S. Web Coated \050SWOP\051 v2)
  /sRGBProfile (sRGB IEC61966-2.1)
  /CannotEmbedFontPolicy /Warning
  /CompatibilityLevel 1.4
  /CompressObjects /Tags
  /CompressPages true
  /ConvertImagesToIndexed true
  /PassThroughJPEGImages true
  /CreateJDFFile false
  /CreateJobTicket false
  /DefaultRenderingIntent /Default
  /DetectBlends true
  /ColorConversionStrategy /LeaveColorUnchanged
  /DoThumbnails false
  /EmbedAllFonts true
  /EmbedJobOptions true
  /DSCReportingLevel 0
  /EmitDSCWarnings false
  /EndPage -1
  /ImageMemory 1048576
  /LockDistillerParams false
  /MaxSubsetPct 100
  /Optimize true
  /OPM 1
  /ParseDSCComments true
  /ParseDSCCommentsForDocInfo true
  /PreserveCopyPage true
  /PreserveEPSInfo true
  /PreserveHalftoneInfo false
  /PreserveOPIComments false
  /PreserveOverprintSettings true
  /StartPage 1
  /SubsetFonts true
  /TransferFunctionInfo /Apply
  /UCRandBGInfo /Preserve
  /UsePrologue false
  /ColorSettingsFile ()
  /AlwaysEmbed [ true
  ]
  /NeverEmbed [ true
  ]
  /AntiAliasColorImages false
  /DownsampleColorImages true
  /ColorImageDownsampleType /Bicubic
  /ColorImageResolution 300
  /ColorImageDepth -1
  /ColorImageDownsampleThreshold 1.50000
  /EncodeColorImages true
  /ColorImageFilter /DCTEncode
  /AutoFilterColorImages true
  /ColorImageAutoFilterStrategy /JPEG
  /ColorACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /ColorImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000ColorACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000ColorImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasGrayImages false
  /DownsampleGrayImages true
  /GrayImageDownsampleType /Bicubic
  /GrayImageResolution 300
  /GrayImageDepth -1
  /GrayImageDownsampleThreshold 1.50000
  /EncodeGrayImages true
  /GrayImageFilter /DCTEncode
  /AutoFilterGrayImages true
  /GrayImageAutoFilterStrategy /JPEG
  /GrayACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /GrayImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000GrayACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000GrayImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasMonoImages false
  /DownsampleMonoImages true
  /MonoImageDownsampleType /Bicubic
  /MonoImageResolution 1200
  /MonoImageDepth -1
  /MonoImageDownsampleThreshold 1.50000
  /EncodeMonoImages true
  /MonoImageFilter /CCITTFaxEncode
  /MonoImageDict <<
    /K -1
  >>
  /AllowPSXObjects false
  /PDFX1aCheck false
  /PDFX3Check false
  /PDFXCompliantPDFOnly false
  /PDFXNoTrimBoxError true
  /PDFXTrimBoxToMediaBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXSetBleedBoxToMediaBox true
  /PDFXBleedBoxToTrimBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXOutputIntentProfile ()
  /PDFXOutputCondition ()
  /PDFXRegistryName (http://www.color.org)
  /PDFXTrapped /Unknown

  /Description <<
    /FRA <>
    /ENU (Use these settings to create PDF documents with higher image resolution for improved printing quality. The PDF documents can be opened with Acrobat and Reader 5.0 and later.)
    /JPN <FEFF3053306e8a2d5b9a306f30019ad889e350cf5ea6753b50cf3092542b308000200050004400460020658766f830924f5c62103059308b3068304d306b4f7f75283057307e30593002537052376642306e753b8cea3092670059279650306b4fdd306430533068304c3067304d307e305930023053306e8a2d5b9a30674f5c62103057305f00200050004400460020658766f8306f0020004100630072006f0062006100740020304a30883073002000520065006100640065007200200035002e003000204ee5964d30678868793a3067304d307e30593002>
    /DEU <>
    /PTB <>
    /DAN <>
    /NLD <>
    /ESP <>
    /SUO <>
    /ITA <>
    /NOR <>
    /SVE <>
  >>
>> setdistillerparams
<<
  /HWResolution [2400 2400]
  /PageSize [595.000 842.000]
>> setpagedevice




